Hx (—) Bz (Z)
CONTENTS CONTENTS

ZHITIE

i b

P01~P06 P104~P108
PROUDUT PREVIEW INDEXABLE MILLING TOOLS OVERVIEW
AMElimmEE I B S5 ER . i .
INDEXAZ?_E EXTERNAL-'I"UCRNING TOOL CODE KEY PO7~P08 INDEX%%%TE&%E%;EEE%@ P109~P110
MZELSMNREIZET] -
M TYPE EXTERNAL TURNING TOOL HOLDERS PO9~P20 BRI EEE ] Fras B N P111~P112
PAI SNEIZET] 51-Po8 INDEXABLE MILLING INSERTS CODE KEY
P TYPE EXTERNAL TURNING TOOL HOLDERS
SESNEIZET] P29-P40 AIRAREITIRES]  p1q3-po3g
S TYPE EXTERNAL TURNING TOOL HOLDERS INDEXABLE MILLING TOOLS
CEUIMNREIZETT - HHETIET -
C TYPE EXTERNAL TURNING TOOL HOLDERS PA1~P44 FACE MILLING TOOLS P113~P164
4 HMNE
IE)%SI;E%\IE TURNING TOOL HOLDERS PA5~P54 S 3 PRk P165~P186
QUARE-SHOULDER MILLING TOOLS
WE SMEIZETT - .
W TYPE EXTERNAL TURNING TOOL HOLDERS P55~P56 PROFILE{EE IﬁEDT ?(‘fg P187~P193
PPl ZE T AL 88 P57 =EDHIZS pga-pr14
INTERNAL TURNING TOOL HOLDER CODE KEY SIDE AND FACE MILLING TOOLS
ME! 9fL.ZET] - ==y IE] -
M TYPE INTERNAL TURNING TOOL HOLDERS P58~P65 CHAMFE:MILLING TOOLS P215~P217
PE A FLZ]] P66~P68 YEIREETD (Kiftes ) &7 P218~P229
P TYPE INTERNAL TURNING TOOL HOLDERS HIGH FEED MILLING CUTTER
D& WFLZET] -
D TYPE INTERNAL TURNING TOOL HOLDERS P69 HELIGAL END F&%’Eﬁfﬁg gz'%fg P230~P231
SE WFLET] -
S TYPE INTERNAL TURNING TOOL HOLDERS P70~P79 STk IER T P232~P236
S AR PBO~-P82 HOMILIFACENILL
S TYPE CARBIDE BORING BARS
bRLYZE TR Si5AA a3 Hsx< (:)
THREADING TOOL HOLDERS CODE KEY CONTENTS
SMBEZET) o84
EXTERNAL THREADING TOOLS e
AR ZET] ogs
INTERNAL THREADING TOOLS
. . AR FLER R -
tﬂli‘ﬁtﬂ*gﬂ ﬂ"ilﬁ.ﬁﬂ P86 INDEXABLE U DRILL pP237 P252
PARTING AND GROOVING HOLDERS CODE KEY
YIRrEZET] » EHIJJE R -
PARTING CROOVING TURNING TOOLS P87~P103 BORING TOOLS P253~P279

A EE(UsRHI T BE—I8




B3 (1)
CONTENTS

I\

SPEE LTI
COLLET CHUCK ARBORS
B

EXTENSION BAR

52K TR

POWER MILLING CHUCK ARBORS

BB WAL

SIDE LOCK END MILL CHUCK

EXBIW

SHELL END MILL ARBORS

B REEKHER

MORSE TAPER WITH TANG

TR ECHER

MORSE TAPER WITHOUT TANG

=HE7IHTIR

TOOL SHANK FOR SIDE AND FACE MILLING CUTTER

TERGFHH

TOOL SYSTEM ACCESSORIES

TERFHRAER

TOOL SYSTEM TECHNICAL INFORMATION

P280~P285

P286

P287~P288

P289~P291

P292~P296

P297~P298

P299~P300

P301~P302

P303~P309

P310~P316

FEERFRSE Product Oy

ZHI7JAR | TURNING TOOLS

H M3 !%E%it Top and hole clamping

o= .
é:mt*@ fl:'d',ﬁ. JERMROENEZBER. Top and hole clamping dualclamp.

Design features

RENBEBRTH ~EHA. Great fastenering fastening force.
2 H“%E*::{ﬁﬁq ' g;ﬁﬂﬁjﬁ, Indexable inserts, economy and durability.

MCBNR/L '

MCLNR/L

\

MCKNR/L q

MDJNR/L q

MDPNN '

MDQNR/L q

MSBNR/L

\

MSRNR/L

MTGNR/L

\

MSKNR/L w

MTJNR/L | IMTINRLB) i

MTQNR/L

MTENN

\

MVJNR/L

MVVNN *

MVQNR/L

MVUNR/L |

] P% *IﬁE'&it Hole clamping

MRDNN

\

MRGNR ﬂ

MWLNR/L q

PCBNR/L q

PCLNR/L

PDJNR/L

-

PDNNR/L q

PRDCN

THMEGEFWAWEE R FWHiNE/RMEwww.hnsant.com

For more details please visit:www.hnsant.com




ZHI71IH | TURNING TOOLS

FEETISS Product Overvie

ZHIJ1IH | TURNING TOOLS

oduct Overview F=EFils

I W o= 1 A

PRGCR/L PSBNR/L PSDNN PSKNR/L PSSNR/L [ | C# EﬁE git Top clamping
CCLNR/L CTJINR/L CTUNR/L CDJNR/L CSRNR/L
PTENR/L PTTNR/L PTGNR/L PWLNR/L
CSKNR/L CSDNN CRDNN
WSk BETERI screwon
57 1 [ q
+ Kﬁﬁﬂ%"ﬂgiﬁﬁ:i‘%o Using screw for direct clamping. . W ﬂh—igﬂ Wedge clamping
é:é':*@ ¢v’§\: %*@ﬁ%ﬁﬂ'ﬁ:&l\o Simple structure,fewer parts.
Design features *% ~ EF'DHI}EH o Apply For Micro And Medium Processes. WTQNR/L WTENN WTJINR/L WWLNR/L
SCACR/L SCLCR/L SDACR/L SDJCR/L SDNCN
m DE Egiﬁ Wedge clamping
SVJCR/L SVJBR/L SVABR/L SVACR/L SVVBN
DCLNR DCBNR DCKNR DCMNN DDJNR
SVVCN SSBCR/L SSDCN SSKCR/L SSSCR/L
DDPNN DDQNR DSBNR DSKNR DSSNR
STACR/L STFCR/L STGCR/L STTCR/L SWACR/L
DSDNN DTGNR DTFNR DVVNN
SRACR/L SRDCN SRGCR/L
DWLNR

THRAKEFBREHAE X #EEZEMNwww.hnsant.com

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




FHIZIR

TURNING TOOLS

FEER TS Product Overview

B o= 71 A

lj*] ?Liﬂ Internal toolholders

[ | M% EQE%?& Top and hole clamping

MCKNR /L MCLNR /L MDQNR/L MDUNR/L MDZNR/L
MSKNR/ L MVQNR/L MVUNR/L MVWNR/L MVXNR/L
MWLNR /L MTFNR/L MTQNR/L MTJNR/L MTUNR/L
MTWNR /L

[ | P% #IFH:EQ%;‘:Q Hole clamping

PCLNR/L PDSNR/L PDUNR/L PSKNR/L PTFNR/L
PWLNR/L

THRAKEFBREHAE X #EEZEMNwww.hnsant.com

ZHlIJ718 | TURNING TOOLS

de Key SMEIZFTIRIELSZRTANY

#H = 71 B

[ | S# !ll,%’f‘]'Eﬁﬁit‘, Screw on

SCLCR/L SCLCR/L-H SCKCR/L SCLPR/L SDQCR/L

SDUCR/L SDZCR/L SDXCRIL SDWCR/L SSKCR/L

SSSCR/L STWCR/L STFCR/L STFPR/L STUPR/L

STUCR/L SVQCR/L SVQBR/L SVUCR/L SVWCR/L
-

SVXCR/L SVZCR/L

. Sgs iﬁiﬂl’i?l,)]ﬁ Tungsten steel Internal Turning tools

SCLCR SDQC SbucC STFC STUP

SwWu

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com



ZHI71H2 | TURNING TOOLS §ANI §AHI ZHI7JH | TURNING TOOLS

SMNEIZETIRBIE RN 1ISO-indexable Insert Exte ng Tools Code Key MR TIRIEL SZRHINY

P S C D R R

BRZC 7 H)) J] H Threading tools [E} El!ﬁit}

HLFF IS BATIEE Q — E
Hole clamping Screw on
SWRI/L(H) SNR/L(H)

S T \ L

Top and hole clamplng Top clamplng
D W N

Kl

PIWr Ik 7] H Parting, grooving tools T
AR (8%

Double clamping Eta

H 9". ﬁtﬂ wfﬂ”ﬁﬂﬁ External Parting, Surface Grooving Tools 1.EE FH X clamping system 2.71F R Insert shape I 5.818E1 75 M
Cutting direction
Juf5 Example | I I |
ZQ KGBR/L SGTR/L QE[JCIR/L QUIDR/L(HEY)
RE! LR M c L N R
QF IR/L(LE ) QFCIRR(HE) QFOILL(LE ) MGEHR/L MGIVR/L ‘ ARG
3 Ilﬁﬁ,'t '-_jEEﬁﬁ Holder style and leading angle Insert clearance angle
C o0 D E F N
90°
ﬂ T REATE AN
COO-QUIDRIL QECIS SPB-S PHS :
J K L M 5"
75° o
107°30" 93 o950 50° C
70
117°30" 107°30
D
\", W X 15°
93 .
7230 w &
E

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




S | INYS

Z #7182 | TURNING TOOLS §BHI §AHI ZHI7JH | TURNING TOOLS

HMEIZET] External turning toolholders ternal turning toolholders 4NE%7]

o
w8 | pE/m e | P/ 95
Symbol Height/mm Symbol Height/mm HT a
12 12 12 12
hﬁ b
16 16 16 16 s 0O b
20 20 SRR EEF 4 E B1:h=8mm, 5 %508 20 20 #1:b=8mm, 45 %08 5,
Integers to be proceeded by 0 Integers to be proceeded by 0 L
25 25 eg:h=8 indicated by 08 25 25 eg:b=8 indicated by 08 . ] :
Applicable Inserts (lamping screw Wrench Clamp  Clamping stud
Dimension(mm) A I XU WRET T st 5T
32 32 32 32
50 >0 50 >0 MCLNR/L 1616H12 16 | 16 |100| 16 | 21 | 30
WS061025
2020K12 20| 2012520 | 25| 28
2525M12 25| 25|150| 25 | 32 | 32 CN oo 120400 MC1204 S3 MCL1814 MSP617
6.71REE Tools-tip height 7. 71K EE Shank width I 3225P12 32| 25|170| 32 | 32| 32 WS061030
3232P12 32| 32|170| 32 | 39| 32
I 2525M16 25| 25|150| 25 | 32 | 38
3225P16 32| 25|170| 32 | 33| 38 CNoo 160600 WS061030 MC1604 S3 MCL2114 MSP821
3232P16 32| 32|170| 32 | 40 | 38
232P1
323 9 821821170/ 32 1 40 | 43 CNoo 190600 WS081030 MC1904 S4 MCL2217 MSP1021
4040R19 40| 40 |200| 40 | 50 | 43
8.7IEKE I 75°
Tool length 9*]]%"]7]'& Cutting edge length
R | KE R | KE
Code |Length Code |Length
D | 60 0| = C D R S T \' W
= JIRTEAR
Insert Shape A
S O
I | I | I | I || |
F 80 N SEzAR 11 7] K Applicable Inserts ClamPingscrew Wrench Claijngstud
o g tnser bed e et Dimension(mm) 2R+ WROUT kiR 0T AT
cle
G| % - | 8 5.556 09
6.350 06 07 11
w
Cc (%
H | 100 = 9.525 09 1 09 09 16 | 16 MCBNR/L 2020K12 20| 20 125 20| 17 | 32 W5061025
12.700 12 15 12 12 22 22 2525M12 25| 25|150| 25| 22 | 32 | CNoo 120400 MC1204 s3 MCL1814 | MSP617
K | 125 < | & WS061030
° 15.875 16 19 15 15 27 3225P12 32| 25(170| 32 | 22 | 32
25| 25|150| 25| 22 | 36
= | & 19.050 19 19 19 33 S CNao 1606
M | 150 g 3005P16 35| 25 |170| 32 | 22| 35 o oo WS061030 | MC1604 s3 MCL2114 | MSP821
| 25.400 25 25 25 44 R 32| 32 |170| 32| 27 | 35
P 170 3232P19 32| 32(170| 32| 27 | 40
CNoo 190600 WS081030 MC1904 S4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 35 | 40

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AMI §AHI %4718 | TURNING TOOLS

4MNEZET] External turning toolholders External turning toolholders 4NRIZET]

MCKNR/L MDPNN
75° J 62°30'

EN
L
NEy

Clamping screw Clamp Clampjng stud
BRI [ e (ampingsrew ~ Shim ~ Wrench ~ Clamp  Clampingstud
KK HRET Pak: T JEBR BT
MCKNR/L 2020K12 20 | 20 [125 | 20 | 25 | 28 WS061025
2525M12 25 | 25 |150 | 25 | 32 | 28 CNoo 120400 MC1204 3 MCL1814 | MSP617 MDPNN 1616H11 16 | 16 | 100 | 16 | 8 | 35 WS061025
3225P12 | 32 | 25 170 | 32 | 32 | 28 5061030 2020K11 20 || 2D [ TEE ] =0 | 10 | & . w1103 | 2 | mciisia | mspsts
2505M16 | 25 | 25 | 150 | 25 | 32 | 30 2525M11 25 | 25 | 150 ) 25 |125]| 36 WS061030 s3
3005P16 | 32 | 25 | 170 | 32 | 32 | 30 | CNao 160600 WS061030 |  MC1604 s3 MCL2114 | MSP821 3225P11 B2 | 2 |0 2 |128] 89
2020K1504/06 20 | 20 [125| 20 | 10 | 42
3232P16 | 32 | 32 |170 | 32 | 38 | 30 WS5061025
3032P19 2525M1504/06 | 25 | 25 | 150 | 25 |12.5| 42 | DNos 1504cc o | ucpn | 2OV
> | 32 | 170 | 32 | 4
1020R19 jo 8 0|3 01 36 | Nos 190600 WS081030 |  MC1904 54 MCL2217 | MSP1021 3225P1504/06 32 | 25 | 170 | 82 [125| 42 | DNuo15060c | wsos1030 | MP1304 06:MSP619
40 | 200 | 40 | 48
36 3232P1504/06 32 32 170 32 16 42
MDJNR/L MDQNR/L
93° o 107°30’

. . : . (lamping screw Shim Wrench Clamp  Clamping stud Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) AR | STER TSIt S & SN 1= S i ~ f e i mF B HE
MDJNR/L 1616H11 16 | 16 | 100 | 16 | 20 | 30 MDQNRL 1616H11 16 | 16 [ 100 | 16 | 21 | 30 WS061025
WS061025
2020K11 20 | 20 | 125 | 20 | 25 | 32 DNoo 110400 S2 L1t 2020K11 20 | 20 | 125 | 20 | 25 | 32 ONew 1104 MD 1103 S2 MCL1814 | msPs13
MD1103 M 4 MSP513 oo oo
2525M11 25 | 25 | 150 | 25 | 32 | 32 WS061030 s3 2525M11 25 | 25 | 150 | 25 | 30 | 30 WS061030 s3
3225P11 32 | 25 |170| 32 | 32 | 32 22l 2 | 25 0| s2 | sU G0
2020K1504/06 | 20 | 20 [125 | 20 | 25 | 36 WS061025 2(5);(5);1155%‘://%2 20 | 20 | 125 20 | 27 | 36 WS061025
oo oo 04:MSP617
2525M1504/06 | 25 | 25 | 150 | 25 | 32 | 38 DNao 150400 04:MSP617 25 1 25 180 25 | 32 | 39 Do 1504 s3 MCL2114
° 3225P1 504/06 32 25 170 32 32 35 DNoo 150600 WS061030 MD1504 06:MSP619
3225P1504/06 32 | 25 |170 | 32 | 32 | 38 DNao 150600 WS061030 | MD1504 S3 MCL2114 . ’
06:MSP619 3232P1504706 | 4, | a2 | 170 | 32 | 40 | 35
3232P1504/06 | 32 | 32 | 170 | 32 | 40 | 38
4040R15 40 | 40 | 200 | 40 | 48 | 40 DNoo 150600

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI %4718 | TURNING TOOLS

4MEIZET] External turning toolholders External turning toolholders §Mg|ZE7]

MSBNR/L MSKNR/L
75° 75° <0

0

Applicable Inserts Clamping screw Shim Wrench Clamp  Clamping stud
T FHAT

Applicable Inserts  Clamping screw ~ Shim Wrench ~ Clamp  Clamping stud

Dimension(mm) A< R~ I VER T A FAR Dimension(mm) 4 s T XgET I BT JEAR i)
2020K12 20| 20 |125| 20 | 17 | 34 102
MSBNR/L Ws061025 MSKNR/L ~ 2020K12 20| 20 [125] 20 | 25 | 28 WS061025
2525M12 25| 25|150| 25 | 22 | 32|  SNoo 120400 MS1204 s3 MCL1814 | MSP617 o
WS061030 2525M12 25| 25 |150| 25 | 32 | 27 | SNan 120400 MS1204 MCL1814 | MSP617
3225P12 32| 25|170| 32| 22 | 32 WS061030
2525M15 25 | 25 [150| 25 | 22 | 38 322512 %2\ 25 |170) 82 32 27
SNoo 150600 WS061030 | MS1504 s3 MCL2114 | MSP821 2525M15 25| 25 |150| 25 | 32 | 32
3232P15 32| 32|170| 32| 29 | 38 SNoo 150600 WS061030 |  MS1504 s3 MCL2114 | MSP821
3232P19 32| 32 (170| 32| 27 | 45 3232P15 82| 82170} 32| 38 | 82
SN 190600 WS081030 | MS1904 4 MCL2217 | MSP1021 3232P19 35| 32 170| 32 | 38 | 36
4040R19 40 | 40 |200| 40| 35 | 45 4040R19 SNoo 190600 WS081030 | MS1904 s4 MCL2217 | MSP1021
4040525 40| 40 |250| 40| 34 | 60| SNoo 250900 WS101035 | MS2508 $4,55 | MCL3220 | MSP1229 40| 40200 40 | 50 | 40
4040525 40| 40 |250| 40| 50 | 45 | SNoo 2509c0 WS101035 | MS2508 S4, S5 | MCL3220 | MSP1229
= MSDNN
45°

Applicable Inserts Clamping screw Shim Wrench Clamp  Clamping stud

. . . e i o S : g Applicable Inserts ~ (lamping screw Shim Clamping stud
Dimension(mm) &4 < SERETIA BEKIRET I T Fiet i) Dimension(mm) A< < I AgET I BT 94T
AT Wt g et R B it 3061029 MSDNN K 20| 20 |125| 20 | 10| 34 WS061025
2525M12 25| 25 |150| 25 | 27 | 32 SNoo 120400 MS1204 s3 MCL1814 | MSP617 ZUEUNE o
25| 25 [150| 25 [12.5 SNoo 1204 MS1204 MCL1814 | MSP617
3205P12 32| 25 |170| 32 | 27 | 32 W5061030 2525M12 34 oo 120400 WS061030
2595M15 o5 | 25 |150| 25 | 27 | 38 3225P12 32| 25 |170| 32 |12.5 34
3232P15 32 | 32 |170| 32 | 35 | 38 SNoo 150600 WS061030 MS1504 S3 MCL2114 MSP821 2525M15 25| 25 |150| 25 |12.5 42
3232P19 a0 | 32 |170| 32 | 35 | 43 3232P15 32| 32170/ 32 | 16| 42 SNoo 150600 WS061030 | MS1504 S3 MCL2114 | MSP821
SNoo 190600 WS081030 | MS1904 S4 MCL2217 | MSP1021
3232P19 32| 32(170| 32| 16 | 45
4040R19 40| 40 1200| 40 | 43 | 43 SNoo 190600 WS081030 | MS1904 S4 MCL2217 | MSP1021
4040S25 40 | 40 |250| 40 | 43 | 55 SNoo 250900 WS101035 | MS2508 4,55 MCL3220 | MSP1229 4040R19 40 | 40 |200| 40 | 20 | 50
4040825 40 | 40 |250| 40 | 20 | 60 SNoo 250900 WS101035 | MS2508 54, S5 MCL3220 | MSP1229

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI %4718 | TURNING TOOLS

4NEZET] External turning toolholders External turning toolholders 4NRIZET]

MSSNR/L MTJNR/L
45° 93°

Applicable Inserts (lamping screw Shim Wrench ~ Clampd  Clamping stud
T HHET

Dimension(mm) HE4 <) BUEElsopalay WK 2T T3k WF AR Applicable Inserts ~ Clampigcrew S Wrench ~ Clamp  Clampingstud
Dimension(mm) FEA AT WELIEET T W AR BUET
MSSNR/L  2020K12 20| 20 [125| 20 | 25 | 36 WS061025
16 | 16 (100 | 16 | 20
2525M12 25| 25 |150| 25 | 30 | 36 MTINR/L  1616H16 28 WS061025
SNoo 120400 | WS061030 | MS1204 S3 MCL1814 | MSP617 2020K16 20| 20 [125| 20 | 25 | 32
3225P12 32| 25 170| 32| 30 | 33 .
3232P12 32| 32|170| 32 | 38 | 35 25 e 25| 25150| 25 | 32| 82 | TN., 160400 | WSO61030 | MT1603 < | McL1s14 | MsP513
3225P16 32| 25[170| 32 | 382 | 32
2525M15 25 | 25 |150| 25 | 30 | 40
SNoo 150600 | WS061030 | MS1504 3 MCL2114 | MsP821 3232P16 32| 32(170| 32| 32| 32
3232P15 32320170 32138 | 40| 7 T | T
3232P19 32|32 |170| 32 | 38 | 45 2525M22 251251150 25 | 32 | 36
SNoo 190600 |WS 081030 | MS 1904 4 MCL2217 | MSP1021 3005P22 32| 25170| 32 | 32 | 36 | TNoo 220400 WS061030 |  MT2204 S3 MCL2114 | MSP617
4040R19 40| 40 |200| 40 | 46 | 45
3232P22 32|32 (170| 32 | 38 | 36
4040525 40| 40 |250| 40 | 50 | 60 SNoo 250900 | Ws101035 | MS2508 4, S5 | MCL3220 | MSP1229

90° 93° T ]
H a
}

Applicable Inserts (lamping screw Wrench Clamp  Clamping stud
Dimension(mm) jj‘t/[\)i'\J fiﬁﬁﬂgﬂ)ﬂf XZ%&%%J = *)X:J: }JILT)Q ﬁél [ET
Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) &7 R~ EHIRIR SKIRE Y T R HEET
MTJNR/L 1616H16B 16| 16 |100| 16 | 20 | 28 WS061025
2020K16B 20| 20 (125 20 | 25 | 32
MTGNR/L 2020K16 20| 20 |125| 20 | 25 | 32 WS061025 52
2525M16B 25| 25 |150| 25 | 32 | 32 ’
2525M16 25| 25 150| 25 | 32 | 30 | TNon 160400 MT1603 5523 MCL1814 | MSP513 TNee 160450 W5061030 | MT1603 53 MCL1814 ) MSP3T3
WS061030 3225P16B 32| 25(170| 32| 32 | 32
3225P16 32| 25|170| 32 | 32 | 30
3232P16B 32| 32(170| 32| 32 | 32
2525M22 25| 25 |150| 25 | 32 | 36
s3 2525M22B 25 | 25 |150| 25 | 32 | 36
3225P22 32| 25|170| 32| 32 | 36 | TNoo 220400 WS061030 MT2204 MCL2114 MSP617 3005P2oB 30| 25 (170| 32 | 32 | 36 TNoo 220400 WS061030 MT2204 s3 MCL2114 MSP617
3232P22 32|32 |170| 32 | 38| 36
3232P22B 32| 32(170| 32 | 38 | 36

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JB | TURNING TOOLS

4MEIZT] External turning toolholders

MTFNR/L
90°

Applicable Inserts

(lamping screw Shim Wrench Clamp  Clamping stud
HHET

MTFNR/L 1616H16 16| 16 |100| 16 | 21/ 28 WS061025
2020K16 20| 20 [125| 20 | 25 | 30
52,
2525M16 25|25]1501 25|32 | 82 | qNo, 160400 | WS061030 | MT1603 <3 | MCL1814 | MsP513
3225P16 32|25 |170| 32 | 32 | 32
3232P16 32| 32[170| 32 | 38 | 32
2525M22 25| 25 |150| 25 | 32 | 36
3005p22 32| 25 170| 32 | 32 | 36| TNoo 220400 WS061030 | MT2204 3| McL2114 | MsPe17
3232P22 32| 32(170| 32 | 38 | 36
105°

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clampingstud
Dimension(mm) H:A R~ (LiSivAVe) XkIRET IR T JEAR 5T
MTQNR/L 2020K16 20| 20 |125| 20 | 29| 25 WS061025
2525M16 25| 25(150| 25| 35| 28 | TNoo 160400 MT1603 5523 MCL1814 | MSP513
WS061030
3225P16 32| 25(170| 32| 35| 25
2525M22 25| 25 [150| 25 | 38 | 36 MT2204 S3 MCL2114 MSP617
TNoo 220400 WS061030
3232P22 32| 32170/ 32 | 46 | 36

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

MTENN

Applicable Inserts ~ Clamping screw Shim Wrench Clamp  Clamping stud
5T

Dimension(mm) JE4s R~ RN XKIEET  JJE wF JRAR
MTENN 1616H16 16| 16 |100| 16 | 8 | 32
WS061025
2020K16 20| 20 |125| 20 | 10 | 34 .
2525M16 25| 25 |150| 25 |12.5/ 32 |  TNoo 160400 MT1603 o MCL1814 | MSP513
3232P16 32| 32 [170] 32 | 16 | 32 WS061030
93°

Applicable Inserts (lamping screw Shim Wrench Clamp Clampjng stud

Dimension(mm) JEA4 K ~f R A XK MEET JIH wF AR B4
MVJNR/L 1616H16 16| 16 |100| 16 | 22 | 43
WS061025
2020K16 20| 20 |125| 20 | 26 | 45
2525M16 Voo 160400 MV1603 > MCL2414 | MSP513
25| 25 |150| 25 | 32| 45 ;
REERES T s3
3225P16 32| 25|170| 32 | 32| 45 WS061030
3232P16 32|32 |170| 32| 40| 45

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI %4718 | TURNING TOOLS

4NEZET] External turning toolholders External turning toolholders 4NRIZET]

MVVNN MVQNR/L
72°30° 117.5°

Applicable Inserts ~ Clamping screw Shim Wrench ~ Clamp  Clamping stud Applicable Inserts Clampingscrew Shim Wrench  Clamp  Clamping stud
Dimension(mm) %4 i~ MR REIBET  TIER BT HAR BYET Dimension(mm) JEA U~} W1 R REKIRET IR T Fi i)
MVVNN  2020K16 20| 20 [125| 20 | 10 | 45 WS061025 MVQNR/L 1616H16 16| 16 [100| 16 | 24 | 36 WS061025
2525M16 25| 25150 25 |12.5) 45 S2 2020K16 20| 20|125| 20 | 27 | 36
VNoo 160400 WS061030 MV1603 5 MCL2414 | MSP513 VNoo 160400 52 ) 513
3225P16 32| 25 |170| 32 |12.5 45 U bR A T 2525M16 25| 25|150| 25 | 33 | 36 L T MV1603 . MCL2114 | MSP51
3232P16 32| 32|170| 32| 16| 45 3225P16 32| 25(170| 32 | 33 | 36 WS061030
3232P16 32| 32(170| 32 | 40 | 36
93°

95°

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud

ey | e S [ et || gy | oy ST i
Stock 77
R/ L
MVUNR/L 1616H16 16| 16 |100| 16 | 20 | 45 sos10ns MWLNR/L §°2°K06 201201125/ 20| 25| 28 |\ 0604ne | WS0B1025 | ieos | 2 MsP513
2020K16 20| 20 |125| 20 | 25 | 45 525M06 25| 25|150| 25 | 32| 30 WS061030 S3
2525M16 25| 25 |150| 25 | 32 | 45 ;N;;Z?;J)# MV1603 Z MCL2114 | MSP513 igig;?)gs 201 20125) 20| 26| 28 Ws061025 MCL1814
3225P16 32| 25(170| 32 | 32 | 45 WS061030 25125|150125| 32| 35| | oo, MW0804 $3 MSP617
3232P16 32| 32 |170| 32 | 40| 45 3225P08 32| 25/170| 32| 32 35 WS061030
3232P08 32| 32(170| 32 | 40| 35

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

xternal turning toolholders 4NgEZET]

ZHI7JH | TURNING TOOLS

4MNEZET] External turning toolholders

B o= 7 A

B o= 71 A

MRGNR

PCBNR/L

75°

Applicable Inserts screw Wrench Lever Shim pin
Dimension(mm) JEA R~} fERII R BRET T ALAT (=
Applicable Inserts (lamping screw Shim Wrench Clamp  (Clamping stud
PCBNR/L 2020K12 20 | 20 [125| 20 | 17 | 30
2525M12 25| 25|150| 25 | 22 | 26 | CNoo 120400 VHX0821 | PC12318 S3 Lv4 SP4
MRGNR/L 2020K12 20 | 20 [125| 20 | 25 | 28 WS061025 3232P12 32| 32170/ 32 | 29 | 27
2525M12 25| 25]150| 25) 32| 32 s3 2525M16 251251190125 | 22| 82 1 16060 VHX0825 | PC16476 s3 V5 SP5
RNoo 120400 MR1204 MCL1814 | MSP617 3530P16 a0 | 32 |170| 32 | 27 | 33
3225P12 32| 25|170| 32| 32 | 32 WS061030
3232P19 32| 32170/ 32 | 27 | 38
3032P12 32| 32(170| 32| 39| 32 CNoo 190600 VHX1027 | PC19476 S4 LVé6 SP6
4040819 40| 40 |250| 40 | 35| 38
4040S2507 40 | 40 |250| 40 | 37 | 50 CNoo 250700
VHX1236 PC25 S5 Lv8 SP8
404052509 40 | 40 |250| 40 | 37 | 50 CNoo 250900
PCLNR/L -
il 95° +
& :
h a
s (@) b
s] g LO
oLl b
ime) - 95°
e
e
L L

Applicable Inserts screw Wrench Lever Shim pin
Dimension(mm) JEA4 ]~} AEFITT F BRET WF ALAT (=
Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FA4< X~ IR XK IEET J1H WwF JRAR BHET
PCLNR/L 1616H09 16| 16 [100| 16 | 20 | 20
2020K09 20 | 20 (125 20 | 25 | 22 | CNoo 0903oo VHX0613 | PC09318 325 Lv3 SP3
MRDNN  2020K12 20| 20 {125 20 | 10 | 30 WS061025 2525M09 o5 | 25 | 150/ 25 | 32 | 22
2525M12 .5 32
25| 25 | 150] 25 12.5 RNoo 120400 MR1204 s3 MCL1814 | MSP617 2V 20| 20125/ 20 | 26 | 28
3225P12 32| 25 [170| 32 |12.5] 30 W5061030 2525M12 25| 25|150| 25 | 32 | 28| CNao 120400 VHX0821 | PC12318 s3 Lv4 sP4
3232P12 32| 321170] 32| 16 | 30 3232P12 32| 32|170| 32| 39| 32
2525M1 25 | 25|150| 25 | 32
>25M16 5125|1501 251 8286 (\ . 160600 VHX0825 | PC16476 S3 V5 SP5
3232P16 32| 32170/ 32| 39 | 36
3232P19 32| 32|170| 32 | 40| 40 N 1906
4040519 0| 20 |250| 40 | 49 | 40 oo oo VHX1027 | PC19476 S4 Y3 SP6
404052507 40 | 40 |250| 40 | 50 | 47 | CNoo 250700 VHX1236 PC25 <5 V8 sps
404052509 40 | 40 |250| 40 | 50 | 47 | CNoo 250900

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI718 | TURNING TOOLS §gu1 §BMI Z #7182 | TURNING TOOLS

4NEZET] External turning toolholders External turning toolholders 4NRIZET]

PDJNR/L PSBNR/L
930 50'/ 750 a
\h a
S| b
0
93>
e L

. . Applicable Inserts Lever Shim pin
Applicable Inserts screw Shim Lever . . . o
Dimension(mm) 3 S R TI ALAT [
Dimension(mm) A~ EHT )7 HRET TIH ATAF L= —
PSBNR/L 1616H09 16| 16 [100| 16 | 13 | 21 s

PDJNR/L 1616H11 16 | 16 |100| 16 | 20 | 25 o 20 | 20 1125 20 | 17 | 23 SNoo 0903oo VHX0613 | PS09318 . Lv3 SP3
2020K11 20| 20 ({125/ 20| 25| 25 DNoo 110400 VHX0613 | PD11270 S2.5 Lv3 SP3 2020K12 20| 20 [125| 20 | 17 | 28
2525M11 25| 251150 25 30| 30 2525M12 25| 25 |150| 25 | 22 | 28

2020K15 20 | 20 |125| 20| 25 | 32 e 5| 25 |170| 32 | 22 | 28 SNoo 120400 VHX0821 PS12318 S3 Lv4 SP4
2595M15 25| 25 |150| 25 | 32 | 35 DNoo 150600 VHX0825 | PD15318 S3 LV4B SP4 3232P12 32| 32 |170| 32 | 29 | 28
3232P15 32|32(170| 32| 38| 35 2525M15 25| 25 |150| 25 | 22 | 32

SNoo 150600 VHX0825 | PS15476 S3 Lv5 SP5
2020K15-3 20| 20 [125/ 20 | 25 | 35 3232P15 32| 32(170| 32| 28 | 32

2525M15-3 25| 25 |150| 25 | 32 | 35 DNoo 150400 VHX0821 | PD15318 S3 Lv4 SP4 3232P19

82182170132 | 36 | 45 SNoo 190600 VHX1027 | PS19476 S4 V6 SP6

3232P15-3 32| 32170/ 32| 38 | 35 4040819 40 | 40 |250| 40 | 35 | 45
SNoo 2507 PS25634
4040S2507 40| 40 |250| 40 | 35 | 50 oo oo X123 52563 - V8 5P8
PDNNR/L 4040S2509 40| 40 |250| 40 | 35 | 50 SNoo 250900 PS25476
63° PSDNN
s 45° 8.5°/
h a h a
3 AN N
O
SFL i
©
€ L

Applicable Inserts Shim Wrench Lever Shim pin

il UL S | [SCs Dimension(mm) HA R SR D T RmE A R

Dimension(mm) AU ) BRET T FTFF Jor

PSDNN  2020K12 20| 20 [125| 20 | 10 | 30
PDNNR/L 202015 2020125/ 20 8 | 87 2525M12 25 | 25 [150| 25 [12.5) 32 SNoo 120400 VHX0821 PS12318 S3 Lv4 SP4
2525M15 25| 25 [150| 25 |12.5| 37 DNoo 150600 VHX0825 | PD15318 S3 LV4B SP4 aoaePs a2 | 32 |170] 32| 16 | 30
2282 o i e o e e 2525M15 25| 25 |190] 25 |12.9 40 SNoo 1506 VHX0825 PS15476 3 V5 SP5
3232P15 32|32 [170| 32| 16 | 37 S S P A 0 G oo oo
2020K15-3 20|20 |125/ 20| 8 | 37 3232P19 a2 | 32 |170| 32| 16 | 40
DNoo 150400 VHX0821 | PD15318 S3 Lv4 SP4 SNoo 190600 VHX1027 PS19476 S4 V6 SP6
2525M15-3 25| 25 [150| 25 |12.5| 37 4040819 40 | 40 |250| 40 | 20 | 40
3232P15-3 32|32|170| 32| 1 7 404052507
3 32|16 | 3 40 | 40 [250| 40 | 20 | 50 SNoo 250700 VHX1236 PS25634 S5 V8 P8
404052509 40 | 40 |250| 40| 20 | 50 SNoo 250900 PS25476

THRAKEFBREHAE X #EEZEMNwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

%= 7] External turning toolholders

PSKNR/L

75°

B o= 7 A

Applicable Inserts Lever Shim pin
Dimension(mm) 4 ) R TI AT ey
PSKNR/L 1616H09 16| 16 [100| 16 | 20 | 17
SNoo 090300 VHX0613 | PS09318 S2.5 Lv3 SP3
2020K09 20| 20 |125| 20 | 25 | 20
2020K12 20| 20 [125| 20 | 25 | 26
2525M12 25| 25 [150| 25 | 30 | 26 SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3232P12 32| 32170/ 32| 38| 26
2525M15 25| 25 |150| 25 | 32 | 32 o
SNoo 1506 VHX0825 | PS15476 V5 SP5
3232P15 32| 32 |170| 32 | 38 | 32 o o
9202P19 82132170/ 52| 38 | 36 SNoo 1906 VHX1027 | PS19476 S4 V6 SP6
oo oo
4040519 40| 40 |250| 40 | 48| 32
SNoo 2507, PS25634
404082507 40 | 40 |250| 40 | 50 | 40 oo oo 1236 <5 8 <ps
4040S2509 40 | 40 |250| 40 | 50 | 40 SNoo 250900 P525476
45°

PSSNR/L

Applicable Inserts Shim Wrench Lever Shim pin
Dimension(mm) JEA <} Gl AL T KLAT RS
1616H09 16| 16 |{100| 16 | 18 | 25 SNoo 090300 VHX0613 PS09318 S2.5 Lv3 SP3
2020K12 20 | 20 |125| 20 | 25 | 28
2525M12 25| 25 |150| 25 | 30 | 32 SNoo 120400 VHX0821 PS12318 S3 Lv4 SP4
3232P12 32| 32 |170| 32| 38 | 32
2525M15 25| 25 |150| 25 | 30 | 35
SNoo 150600 VHX0825 | PS15476 S3 LV5 SP5
3232P15 32| 32170 32 | 38 | 35
3232P19 32| 32 |170| 32| 38 | 40
SNoo 190600 VHX1027 | PS19476 S4 LV6 SP6
4040519 40 | 40 |250| 40 | 48 | 50
4040582507 40 | 40 |250| 40 | 48 | 50 SNoo 250700 PS25634
S5 Lv8 SP8
4040S2509 40 | 40 |250| 40 | 48 | 50 SNoo 250900 VHX1236 | bsr5476

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

#H o= 7 A

PRDCN

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

Applicable Inserts SCFE‘W Wrench Shim pin
. . o i P (1 |24 Ee ek
Dimension(mm) $&7s <~} T HRET BT o
PRDCN  2020K12 20|20 (125/ 20| 10 | 25
RCMX 120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25| 25|150| 25| 125 | 25
2525M16 25| 25(150| 25| 10 | 35
RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32|32(170/ 32| 16 | 32
3232P20 32| 32|170| 32| 16 40
RCMX200600 VHX0825 | PR 2004 S3 LCL20C SP5
4040T20 40 | 40 |300| 40 | 20 45
3232P25 32|32(170| 32| 16 | 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040725 40 | 40 |300| 40 | 20 50
PRACR/L 07
\
h a

PRACR/L 2020K12

Applicable Inserts screw Wrench Lever Shim pin
. . " 25 === 2 S
Dimension(mm) &A% IR ) RET T KFE o
20 | 20 | 125 | 20 30
RCMX120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25 | 25 | 150 | 25 30
2525M16 25 | 25 | 150 | 25 35
RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32 32 | 170 | 32 35
3232P20 32 | 382|170 | 32 40
RCMX20060 VHX0825 | PR 2004 S3 LCL20C SP5
4040T20 40 | 40 | 300 | 40 50
3232P25 32 | 382|170 | 32 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040725 40 40 | 300 | 40 50

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS §BHI

7] External turning toolholders

PRGCR/L .

Applicable Inserts SCDE“-‘W Shim Wrench Lever Shim pin
’a 2 - - A2
Dimension(mm) A< R ~f fEHIEITI R BET JAE:] #wF ATAF YR
PRGCR/L 2020K12 20 | 20 | 125 | 20 | 25
RCMX 120400 VHX0613 | PR 1204 $2.5 LCL12C SP3
2525M12 25 | 25 | 150 | 25 32
2525M16 25 1251 150 | 25 | 35 RCMX160600 | VHX0621 | PR 1604 52.5 LCL16C | SP4
3232P16 32 | 32| 170 | 32 | 42
3232P20 32 | 32 | 170 | 32 40
RCMX200600 VHX0825 | PR 2004 s3 LCL20C SP5
4040T20 40 | 40 | 300 | 40 | 50
3232P25 32 | 32| 170 | 32 | 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040725 40 | 40 | 300 | 40 56
90° 5/
s| MO b
o
90°
e L
Applicable Inserts screw Lever Shim pin
Dimension(mm) HA ) fSE PR T URET LT e
PTGNR/L 1616H11 16 | 16 |100| 16 | 19| 18
2020K11 20 | 20 [125| 20 | 24 | 20 TNoo 110300 VHX059B — S2 Lv2 -
2525M11 25 | 25 |150| 25 | 29 | 20
1616H16 16 | 16 |100| 16 | 19 | 22
2020K16 20 | 20 |125| 20| 23 | 25
TNoo 160400 VHX0617 PT16 S25 Lv3 SP3
2525M16 25 | 25 |150| 25| 29 | 25
3232P16 32| 32[170| 32| 37 | 32
2525M22
2512511501 25| 30 130 | 1\ 220400 VHX0821 PT22 S3 Lv4 SP4
3232P22 32|32 (170| 32| 37 | 32
3232P27
821821170182 | 37138 | TNoo 270600 VHX0825 | PT27 s3 V5 sp5
4040527 40 | 40 | 250| 40 | 47 | 38

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

PTFNR/L

900 50
1
h

Applicable Inserts screw Lever Shim pin
Dimension(mm) FEA R} R R BT FLAT Ry
PTENR/L 1616H16 16 | 16 [100| 16 | 20 | 20
2020K16 20 | 20 |125/ 20| 25 | 20 TNoo 160400 VHX0617 PT16 S2.5 Lv3 SP3
2525M16 25| 25|150| 25 | 30 | 25
2525M22 25| 25 |150| 25 | 32 | 30
TNoo 220400 VHX0821 PT22 S3 Lv4 SP4
3232P22 32|32 |170| 32 | 38 | 30
3232P27 32|32 |170| 32 | 38| 35
TNoo 270600 VHX0825 PT27 S3 Lv5 SP5
4040827 40 | 40 |250| 40 | 50 | 34

PTTNR/L
60°

Applicable Inserts screw Wrench Lever Shim pin
Dimension(mm) A4 ) T WRET WF FLAT Rk

PTTNR/L 1616H16 16| 16 [100| 16 | 13 | 25
TNoo 160400 VHX0617 PT16 52.5 Lv3 SP3

2020K16 20| 20 (125 20| 17 | 25
2525M22 25| 25|150| 25 | 22 | 32 TNoo 220400 VHX0821 PT22 S3 Lv4 SP4

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




Z #7182 | TURNING TOOLS §BHI §AMI Z #7182 | TURNING TOOLS

4MEIZET] External turning toolholders External turning toolholders 4 NEIZET]

PWLNR/L SCACR/L
95° S 90’ 0

o

a e
=)

o218\ [ 1
—

Applicable Inserts

Dimension(mm) JEA R FEFEI R

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) A4 s} EFRI ) WRET k! T FLH R

Stock {7
a b L h s e
R|L
SCACR/L 1010E06 10 | 10 | 70 | 10 |10.5| 10 CCoT 060200 L60M2.5X5 TO08
FRUENTS Bl 19]1611001 16 19 22 1212F09 12 | 12 | 80 | 12 |12.7] 16 CCoT 09T300 L60M4 X 8 T15
2020K06 20 | 20 |125| 20 | 23| 25| WNoo 060400 VHX0617 | PW06270 $2.5 Lv3 SP3
2525M06 25| 25 |150| 25| 28 | 25
2020K08 20 | 20 |125| 20 | 25| 26
2525M08 25 | 25|150| 25 | 29| 26 |  WNoo 0804co VHX0821 | PW08318 s3 V4 SP4
3232P08 32| 32170 32| 37| 26 SCLCRIL

95°

®
95°

Applicable Inserts

R R
SCLCR/L 1212F09 12 | 12 | 80 | 12 | 15 | 16
1616H09 16 | 16 | 100 | 16 | 20 | 16 CCaT 09T300 L6OM4X 8 5
2020K09 20 | 20 |125| 20 | 23 | 20
2020K12 20 | 20 [125| 20 | 24 | 25
2525M12 25 | 25 [ 150 | 25 | 29 | 25
3225P12 32 | 25 170 | 32 | 29 | 25 CCeT 120400 Loom3 12 120
3232P12 32 | 32 [170| 32 | 36 | 38

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI %4718 | TURNING TOOLS

4MNEZET] External turning toolholders External turning toolholders 4NRIZET]

SDACR/L SDNCN
90° 0? 620 30" 07
: : (v —
S /&) b ﬁ > Sj_ b
9 ] sl L

Applicable Inserts Applicable Inserts
Dimension(mm) H:4s X~ eIy Dimension(mm) H:4s <) IRy
Stock [i:77 Stock /7
R|L = a s | e
SDACR/L 1010E07 10 | 10 | 70 | 10 |10.5| 15 DCoT 070200 L60M2.5X 5 T08 SDNCN 1010E07 10 | 10 | 70 10 | 5 16
1212F11 12|12 | 80 | 12 |125] 20 peoT 07020 o055 108
1616H11 DCaT 11T3co L60M4 % 8 T15 1212F07 2] 1280 1128
16 | 16 | 100 | 16 [16.7 | 20 1212H11 12| 12 (100 | 12 | 6 | 22 DCoT 117300
1616H11 16 | 16 |100 | 16 | 8 | 22 L6OM4X 8 15
SDJCR/I_ 2020K11 20 | 20 [125 | 20 | 10 | 22 DCaT 11T3o0
o 2525M11 25 | 25 [150 | 25 |12.5 | 22
93 Oo/
S - SVJCR/L
93° 0y
s b
4 n 2
93° STt
e L s b
|
Applicable Inserts e L

Dimension(mm) 7 &~ TR WEET

Applicable Inserts
Stock {7 R
a S e
R|L
SDJCR/L 1010E07 10 | 10 |70 | 10 | 12 | 15 ook
1212F07 12 [ 12 |80 | 12 | 14 | 15 a s e
DCoT 070200 L6OM2.5X5 T08 RIL
1616H07 16 | 16 |100 | 16 | 18 | 18
SVJCR/L 1212F11 12 [ 12 |80 | 12 | 14 | 20
2020K07 20 | 20 |125 | 20 | 22 | 18
1616H11 16 | 16 100 | 16 | 18 | 22
1616H11 16 | 16 |100 | 16 | 19 | 20 VCoT 110300 L60M2.5% 5 T08
2020K11 20 | 20 125 | 20 | 22 | 27
20 | 20 |125 | 20 | 23 | 26
2020K11 DCoT 11T3a0 L60M4™ 8 T15 2525M11 25 | 25 [150 | 25 | 27 | 35
25 | 25 [150 | 25 | 28 | 26
2525M11 1616H16 16 | 16 |100 | 16 | 18 | 32
32 | 25 |[170 | 32 | 28 | 26
L3228Pit L 82 s 170 | 82 | 28 | 26 2020K16 20 |20 [125 | 20 | 22 | 32
3232P11 32 | 32 |170 | 32 | 35 | 31
2525M16 25 | 25 |150 | 25 | 27 | 35 VCoT 160400 L60M4 X 8 T15
3225P16 32 (25 |170 | 32 | 27 | 35
3232P16 32 | 32 |170 | 32 | 35 | 45

THREKEFBEREHE] X ¥I15iE % Miwww.hnsant.com THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

ZHI7JH | TURNING TOOLS

4SMN&EZET] External turning toolholders

#H = 71 A #H o= 7 A

SVJBR/L SVACR/L
93° 0y 90° 07
Al W :
s b
I s b x
93 :j bg O; ]
£ L

Applicable Inserts Applicable Inserts

Dimension(mm) Ff7 )~} ERIATI Y Dimension(mm) &4 X ) BUEElsoyalay

a S e
R|L
SVJBR/L 1212F11 12 | 12 | 80 | 12 | 14 | 27
1616H11 16 | 16 |100 | 16 | 18 | 27
VBoT 110300 L60M2.5%5 T08
2020K11 20 | 20 [125 | 20 | 22 | 27
2525M11 25 | 25 [150 | 25 | 27 | 27
1616H16 16 | 16 |100 | 16 | 18 | 36
2020K16 20 | 20 [125 | 20 | 22 | 41
2525M16 25 | 25 [150 | 25 | 27 | 41 VBoT 160400 L60M4 X 8 T15
3225P16 32 | 25 [170 | 32 | 27 | M4
3232P16 32 | 32 [170 | 32 | 35 | 41
(o]
90 0y
\h ‘\_' a
|_&2 : >

SVABR/L

Stock [77

Applicable Inserts
R

R|L
1616H16 16 | 16 | 100 | 16 |16.5| 32
2020K16 20 | 20 | 125| 20 |20.5| 32
2525M16 25 | 25 | 150 | 25 |25.5| 38

VBoT 160400

L60M4 < 8

T15

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

Stock 7
a £ e
R|L
SVACR/L 1616H16 16 | 16 | 100 | 16 |16.5| 32
2020K16 20 | 20 [ 125 | 20 |20.5| 32 VCoT 160400 L6OMA 8 15
2525M16 25 | 25 [ 150 | 25 |25.5| 38
/0
\
h \_' \ a
SI—<<€ b
17.5°
€ L

SVVBN

Dimension(mm) FE4s K~

Applicable Inserts
IR

Stock [577
1212F11 12 12 80 12 6 22
1616H11 16 16 | 100 | 16 8 27
VBoT 110300 L60M2.5X5 TO8
2020K11 20 20 (125 | 20 10 30
1616H16 16 16 | 100 | 16 8 33
2020K16 20 20 (125 | 20 10 33
2525M1 .
ZEAE 25 25 | 150 | 25 |125) 38 VBaoT 160400 L60M4 X 8 T15
3225P16 32 25 |170 | 32 | 12.5]| 38
3232P16 32 32 (170 | 32 16 38

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

ZHIJ7JIE | TURNING TOOLS

4MEIZET] External turning toolholders

SVVCN SSDCN
72° 30 L 45° ;
i il . : -
T g 2zl
| FVA @ : ‘Q'
e L 45.2@ . .

Applicable Inserts
Dimension(mm) JA R ) ugilianaley

Applicable Inserts
IR

Dimension(mm) %E4< K~}

Stock i
R| L
SVVCN 1212F11 1211218 12 ) 6 | 22 SSDCN 1212F09 12128 |12 | 6 | 16
1616H11 16 16 | 100 | 16 8 27 1616H09 16 16 | 100 | 16 8 16
VCoT 110300 L6OM2.5X5 T08 SCoT 09T300 L6OM4X8 15
2020K11 20 20 |125 | 20 10 30 2020K09 20 20 | 125 | 20 10 16
1616H16 16 16 [ 100 | 16 8 33 2525M09 25 25 150 | 25 |125| 25
2020K16 20 20 |125 | 20 10 33 2020K12 20 20 | 125 | 20 10 25
SCaT 1204 L60M5 X 12 T20
2525M16 25 25 |150 | 25 |12.5| 38 VCoT 160400 L6OMAX8 T15 2525M12 25 25 |150 | 25 |125| 25 o oo
3225P16 32 25 |170 | 32 |12.5| 38 3232P12 32 32 | 170 | 32 16 25
3232P16 32 32 | 170 | 32 16 38
SSBCR/L 75° of
o
75 0/ N “—' / a

=0
.
L
—

Q

]

w
<
@®

=)

L5
€ L
Applicable Inserts
i Dimension(mm) 4 R ~f EFRR IR
Applicable Inserts
GdiliapAYs
Stock /7
a S e
R| L SSKCR/L 1616H09 16 | 16 [100 | 16 | 20 | 13
SCoT 09T3uo L60M4 X 8 T15
SSBCR/L 1212F09 12 | 12 | 80 | 12 | 11 | 14 2020K09 20 | 20 (125 | 20 | 25 | 18
SCoT 09T3 L60M4 X 8
1616H09 16 | 16 |100 | 16 | 13 | 16 ) - T 2020K12 20| 20 [125 | 20 | 25 | 18
2020K12 20 | 20 [125 | 20 | 17 | 25 2525M12 25| 25 |150 | 25 | 32 | 22 SCuT 120400 L60M5 X 12 T20
2525M12 25 | 25 | 150 | 25 | 22 | 25 SCoT 120400 L60M5 X 12 T20 3232P12 32| 32 (170 | 32 | 40 | 27
3232P12 32 | 32 [170 | 32 | 27 | 28

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHI718 | TURNING TOOLS §AHI

4SMN&EZET] External turning toolholders

SSSCR/L
45°

o7

o
1
T
=
1)

Applicable Inserts
Dimension(mm) JEA R~ SRR

Stock 57
a £ e
R|L
SSSCR/L 1616H09 16 | 16 [100 | 16 | 20 | 16
SCoT 09T3mo L60M4 X 8 T15
2020K09 20 |20 [125 | 20 | 25 | 20
2020K12 20 |20 |125 | 20 | 25 | 23
2525M12 25 | 25 |150 | 25 | 32 | 25 SCoT 120400 L60M5 X 12 20
3232P12 32 |32 [170 | 32 | 38 | 28
91° 0y
h \ \ \ a
s b
(-)
917
€ L

Applicable Inserts
Dimension(mm) A R~ I

Stock 17
R|L

1212F11

STACR/L 12 | 12 | 80 | 12 125 | 14 TCoT 110200 L60M2.5X 5 T08

THRAKEFE RSB X #HEEZEEMNEwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

STFCR/L
91° 0‘0/

Applicable Inslerts
Dimension(mm) FEAS R} IR
STFCR/L 1212F11 1212 |80 | 12 | 14 | 14
1616H11 16 | 16 |100 | 16 | 18 | 16 TCoT 110200 L60M2.5% 5 Tos
2020K11 20 | 20 125 | 20 | 22 | 16
1616H16 16 | 16 100 | 16 | 18 | 19
2020K16 20 | 20 |125 | 20 | 22 | 19 TCoT 16T300 L60M4 X 8 T15
2525M16 25 | 25 [150 | 25 | 27 | 24
91° 0

PR

Applicable Inserts
IR

Stock 57
R | L
STGCR/L 0808D09 08 |08 [60 | 8 | 10 | 11
TCoT 090200 L60M2.2X5 To6
1010E09 10 |10 |70 | 10 | 11| 11
1212F11 12 |12 |80 | 12| 14 | 14
TCaT 110200 L60M2.5% 5 T08
1616H11 16 | 16 |100 | 16 | 17 | 16
2020K16 20 | 20 1125 | 20 | 22 | 21 TCoT 16T3 L60M4 X 8 T15
o oo
2525M16 25 | 25 |150 | 25 | 27 | 21

THREGCEFBERERE] X #EEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4NEIZET] External turning toolholders

#H = 71 A

#H o= 7 A

ZHIJ7JE | TURNING TOOLS

External turning toolholders FMNEZ%7]

o oY
o
60 0% o TP T
\h a
I ]
e ]
s| b (N -
°
B : et Serow W o e
e L D, e 0 5 H
I peE
Stock @
Applicable Inserts Wit | @ b L h|s | e
Dimension(mm) F:4 R ~J GUiEimA)as
20 | 20 |125| 20 | 10 | 11
SRDCN _2020K06 RCoT 060200| L60OM2.5x 5 T08 - - -
Stock 2525M06 25 | 25 | 150 | 25 |12.5| 11
[0CK /441
a s e \—"/ 2020K08 20 | 20 | 125| 20 | 10 | 16 |RCoT 080300| LEOM3 X7 To9
L _ _ _
R 2525M08 25 | 25 | 150 | 25 |125| 16
STTCR/L 1616H11 16 | 16 | 100 | 16 | 13 | 14 TCoT 110200 L60M2.5 x 5 To8 SRRl 20 | 20 | 125 | 20 | 10 | 25
RCaoT 10T320| LEOMS3.5x 10 T15
16 | 16 | 100 | 16 | 13 | 19 - - -
1616H16 TCUT 16T3um LE0MA4 x 8 T15 2525M10 25 | 25 | 150 | 25 |12.5| 25
20201516 2020 12520 (17 |19 2020K12 20 | 20 |125| 20 | 10 | 35
2505M12 25 | 25 | 150 | 25 |12.5| 35 |RCoT 120400| L6OM3.5x 12 Ti5 - - -
3225P12 32 | 25 | 170 | 32 | 16 | 35
2525M16 25 | 25 | 150 | 25 |12.5| 35
RCuoT 16060a| L60M4 x 16 T20 R16BS SMo614 S4
3232P16 32 | 32 |170| 32 | 16 | 40
SWAC R/ L 3232P20 32 | 32 |170| 32 | 16 | 40
o RCMX2006 [L60M5x 16-8.1  T20 R20BS SM0814 S5
90 o/ 4040820 40 | 40 | 250 | 40 | 20 | 40
ST ]
SRGCR/L
© 4
b h| \ N
14 2 e AP
-  — S
S
L o
L
Applicable Inserts Aontcal _ ~ ~ ~
Dimension(mm) A4~} B SrrETsts H Gl } 5
e
Stock @
ﬁf—:ﬁ a b L h S
1010E04 10 | 10 | 70 | 10 [105| 10
BRI WCoX 040200 L6OM2.5x 5 To8 SRGCR/L 2020K10 20 | 20) 125 | 20 | 25
1212F04 12 | 12| 80 | 12 |125| 14 T o5 | 25| 150 | 25 | ap |RCST10T3x:| LEOMBSX10 |  Ti5 - - -
1616H06 16 | 16 | 100 | 16 [16.5| 20 WCoX 06T3a0 L60M3 x 7 TO9 2020K12 20 | 20| 125 | 20 | 27
2020K08 20 | 20 | 125| 20 |20.5| 24 WCoX 080400 L60M4 x 8 T15 e o5 | 25| 150 | 25 | 3 |RCT 120400| LEOM3S5x 12 15 _ _ _
3232P12 32 | 32| 170 | 32 | 32
2523MI6 25125 150 | 25 | 32 Ioc T160600| L6OM4x 16 T20 R16BS SM0614 S4
3232P16 32 | 32| 170 32 40
3232P20 32 | 32| 170 | 32 | 40
RCMX2006 |L60M5 x 16-8.1 T20 R20BS SM0814 S5
4040820 40 | 40| 250 | 40 | 48

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

#H = 71 A

O°'/
T
P " —
s (j—/ b O
@ -——>
e
L
APD D 15 e e e e
D - 0 H o gy Il 7 7
BE
S,g?%k a b L h | e @
20 | 20 | 125 | 20 | 1
SRACR/L  2020K06 ® |RCoT060200| L6OM25 x5 T08 - - -
2525M06 25 | 25 | 150 | 25 | 23
2020K08 20 | 20 | 125 | 20 | 18 |RCoT0803un| L6OM3x7 09 ~ _ _
2525M08 25 | 25 | 150 | 25 | 23
2020K10 20 | 20 | 1256 | 20 | 20 |RCoT 10T300| L6OM3.5x 10 15 _ _ _
2525M10 25 | 25 | 150 | 25 | 25
2020K12 20 | 20 | 125 | 20 | 28
2525M12 25 25 150 25 28 RCoT 120400 | L60M3.5x 12 T15 - - -
3225P12 32 | 25 | 170 | 32 | 28
2525M16 25 | 25 | 150 | 25 | 35
RCuT 160600| L60MA4x 16 5 R16BS SMO614 sS4
3232P16 32 | 32 | 170 | 32 | 40
3232P20 32 | 32| 170 | 32 | 40
RCMX2006 |L60M5x 16-8.1  T20 R20BS | SM0814 S5
4040520 40 | 40 | 250 | 40 | 55

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

External turning toolholders SN&EZET]

#H o= 7 A

CCLNR/L

T ]

Applicable Inserts Shim Wrench Clamp Clamp SCrew.
Dimension(mm) A ) AT R Ak T i e B iR 22
20| 201|125/ 20 | 26| 32
CCLNRAL _2020K12 CN oo 120700 | MC 1204 $4,53 CCL2612 | DM 0625 | DSP 0612
2525M12 25| 25150 25| 31| 31
2525M16
25|25|150| 25 | 32 | 36 CNoo 160600 MC 1604 S4 CCL2816 | DM 0830 DSP 0812
3225P16 32| 25 170|382 | 32 | 36
93°

Applicable Inserts Shim Wrench Clamp Clamp screw
Dimension(mm) FEA U~ IR JIH T JI%T J b g2z

L}

CDJNR/L  2525M15 25|25 (150| 25 | 32 | 40
3225P15 32| 25(170| 32 | 32| 40 | DN oo 150700 | MD 1504 $4,83 CCL2612 | DM 0625 | DSP 0612

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZH|J7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

CSKNR/L

75°

Applicable Inserts Wrench Clamp Clamp screw screw
Dimension(mm) A s I T FAR JE R 522 WRET

CSKNR/L  2020K12 20| 20 |125| 20 | 26 | 28
2525M12 25| 25|150| 25 | 32| 30 | SNco120700 | MS1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25|170| 32 | 32| 30

45°

Clamp screw SCrew
JEMIZZ2  WBET

L

Applicable Inslerts Shim Wrench
Dimension(mm) 34X~ T PAE: wF

Clamp
Al

CSDNN  2020K12 20| 20 [125|20 | 10 | 36
2525M12 25| 251150 25 [12.5) 36 | gN o 120700 | MS 1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25|170| 32 |[12.5 36

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

75°
H
S ©
5,
e
L
Applicable Inserts Shim Wrench Clamp Clamp I SCrew
Dimension(mm) &4 < ~f BUzElEapA)ay JIE T AR i b 22 WRET
CSRNR/L 2020K12 20| 20 [125|20 | 22| 32
2525M12 25| 25|150| 25 | 27 | 32| gNop 120700 | MS1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25 [170| 32| 27| 32
32| 25(170| 32 | 32 | 40
220l SN oo 150700 | MS 1504 s4 CCL2816 | DM 0830 | DSP 0812
4040R15 40 | 40 |200| 40 | 43 | 40

r
(@) “

«O); °

Applicable Inserts ~ Shim Wrench Clamp Clamp screw

Dimension(mm) JEA R I Ak #F Ji et g e
CRDNN  2020K12 20| 20 |125|20 | 10 | 36
2525M12 25| 25 |150| 25 |12.5/ 36 | RN oo 120700 MR1204 S3,84 CCL2612 | DM 0625 DSP 0612
3225P12 32| 25170 32 |12.5] 36

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZH|J7JE | TURNING TOOLS §AMI

CTJNR/L
93°

Applicable Inserts  Shim Wrench Clamp Clamp screw screw
Dimension(mm) JA4s K~ R A Ak T R FEARIR 22 W2ET

L}

CTJNR/L 2020K16 20| 20 [125| 20 | 26 | 32
TN oo 160700 | MT 1603 | S4,S3 | CCL2612 | DM 0625 | DSP 0510
2525M16 25| 25 [150| 25 | 31 | 32
93°

Applicable Inserts Wrench Clamp Clamp screw screw
Dimension(mm) A <) R WF AR EARIEL W2AT

CTUNR/L  2020K16 20| 20 |125|20 | 25 | 32

2525M16 25| 25|150| 25 | 32 | 32 | TN oo 160700 MT 1603 S4,S3 CCL2612 DM 0625 DSP 0510

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

External turning toolholders 7MNEIZE7]

DCLNR/L

95°

Applicable Inserts Wrench  Clamp Clamp screw SCrew
DCLNR/L  2020K12 20 |20 [125| 20| 27 | 32
2525M12 2525 |150| 25|32 30 CNoo1204cc | MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32|32 |170| 32|39 | 30
2525M16 25|25 (150 | 25|32 | 36
T20, S4 DLM DM 0625 | L60M
p— 2232 |170| 32| 20 | 36 CN 00160400 DC 16635 S 5 60 M5X12
3232P19 32 (32 [170| 32| 40 | 40 DCL1934
CN 52190600 MC 1904 | S6,S4 ) M8X35 | DSP 0814
4040R19 40 | 40 (200 | 40| 50 | 40
75° T
H a
SL ® jb
e | L J
Applicable Ins'errs Wrench  Clamp Clamp screw  SCrew
Dimension(mm) FEAR ) IR T JEAR JE AR R 22 BRET
DCBNR/L  2020K12 20|20 [125| 20| 17 | 32
2525M12 25|25 |150| 25| 22| 30 CN oo 120400 MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32|32 [170| 32| 29 | 30
2525M16 25 |25 (150 | 25| 23 | 36
CN 02160400 DC 16635 | T20,S4 DLM5 | DM 0625 | L60M5X12
3232P16 32|32 (170| 32| 29 | 36
3232P19 32 (32 |170| 32| 28 | 40 DCL1934
CN 00190600 MC 1904 | S6,S4 ) M8X35 | DSP 0814
4040R19 40 | 40 |200| 40| 36 | 40

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZFHJ7JE | TURNING TOOLS §AMI §AHI ZFHI7JE | TURNING TOOLS

4NEIZET] External turning toolholders External turning toolholders FMNEZ%7]

DCKNR/L DDJNR/L
75° ) . 93° T
e L J e

Applicable Inserts Shim  Wrench  Clamp  Clamp screw Applicable Inserts Shim  Wrench  Clamp Clamp screw
Dimension(mm) A R I JIHs #F i T §22 Dimension(mm) FEA R~ LUy WAL #HF JERR  JERRISZ
DCKNR/L 2020K12 20| 20 |125| 20 | 26 | 28 DDJNR/L 2020K11 20| 20 |125| 20 | 25| 32
2525M12 25| 25|150| 25| 32| 28| CNoo1204c0 | MC1204 | S3. S4 | DCL2612 | DM 0625 | DSP 0612 2525M11 25| 25|150| 25 | 30| 32| DNem1104sa | MD1103 | S3 | DCL2211 | DM 0520 | DSP 0510
3232P12 32| 32170 |32 | 39| 28 2020K1504 20| 20 [125| 20 | 25| 40
2525M1504 25| 25150 | 25 | 31| 40|  DNoo 150400
8232P1504 32|32 |170| 32 | 39 | 40 MD 1504 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
2020K1506 20| 20 |125| 20 | 25/ 40
2525M1506 25| 25|150| 25 | 31| 40|  DNoo 150600
3232P1506 32| 32|170| 32| 39/ 40
DCMNN DDPNN

62.5° L

[ 1

Is
}C?\
b

b
) )
2> e _‘ & e
L ] L
. . licable Inserts Wrench  Clamp  Clamp screw
Applicable Inserts Shim Wrench  Clamp Clampscrew  screw . . App i s A - gy
Dimension(mm) H4< ) I N wF R IR B Dimension(mm) 34§ R Sl
DOMNN _ 2020K12 2020125/ 20 | 10 | 36 SRR Rl g Rl e e DN 1o 1104 MD1103 | S3 | DCL2211 | DM 0520 | DSP 0510
2525M12 25| 25|150| 25 125/ 36 | CNoo1204oo | MC 1204 | S3. S4 | DOL2612 | DM 0625 | DSP 0612 2525M11 25| 25 150 25 |12.5) 36
3232P12 32| 32]170/ 32| 16 | 36 020K1504 20120 1125/ 20 | 10 | 36
2525M1504 25| 25150 | 25 |12.5| 36 DNoo 150400
3232P1504 32| 32(170| 32 | 16| 36
MD 1504 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
2020K1506 20| 20 |125| 20 | 10 | 36
2525M1506 25| 25 |150| 25 [12.5] 36 DNoo 150650
3232P1506 3232|170/ 32 | 16 | 36

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

External turning toolholders 7MNEIZE7]

ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

& | INYS

DDQNR/L

107.5°

DSDNN

45°

A
A
@

i

licable Inserts Shim Wrench  Clam Clamp screw
Ap%ﬁﬁggg;j)# 73‘;% W Jﬂﬁp Eij‘\p@;?g Applicable Inserts Shim Wrench  Clamp Clamp screw  SCrew
Dimension(mm) J&4s K ) IR PAE:! T Hehi JEAR IR 22 WRA]
DDQNR/L 2020K11 20| 20 [125| 20 | 25| 28 o ss
DN oo 1104 MD 1103 , DCL2211 | DM 0520 | DSP 0510
2595M1 1 25| 25 |150| 25 | 31| 28 oo o0 DSDNN  2020K12 20|20 [125| 20| 10| 36 s
SN oo 1204 MS 1204 , DCL 2612 | DM 0625 | DSP 0612
2020K1504 20| 20 125| 20 | 26| 36 aeanlila 2525 1150 25/12.5 36 so e
2525M1504 25| 25 |150| 25 | 32| 36 |  DNoo 150400 3232P12 32|32 170 82 123 36
2525M15 25| 25 |150 | 25 [12.5 40
3232P1504 32| 32[170| 32 | 38| 36 SN co1506 DC15635 | 720,84 | DLM5 | DM 0625 | L60M5X12
MD 1504 oo oo ,
2020K1506 20| 20 /125! 20| 26| 36 S4,83 | DCL2612 | DM 0625 | DSP 0612 3232P15 32 132(170| 32| 16 | 40
EEEEIEE 25125/150| 25 32/ 36|  DNuo 150600 3232P19 32132 170| 32| 1648 | o 190600 | Ms 1004 | S6,54 | PCL1934 | vavas | psposig
3232P1506 32| 32|170| 32| 38| 36 4040R19 40 | 40 |200| 40| 20 | 48 (o)

75°

45°

5%,

licable Inserts Wrench  Cl (olt .
AP?EFHE‘JUJ# R H—gg‘ip ,%’;g;;@w Applicable Inslerts Wrench  Clamp Clamp screw SCrew
: — Dimension(mm) JEA U~ IR #T JERR RARIRZ IBET
L i 0 B e i b SN oo 1204 MS 1204 | S3,84 |DCL2612 | DM 0625 | DSP 0612 - -20K12 201201125 20| 25 | 36
2525M12 25|25150| 25) 23 32 o enen ' 2525M12 25| 25150 | 25| 30| 35| SN oo 120400 MS 1204 | S3,S4 |DCL2612 | DM 0625 | DSP 0612
3232P12 3232 |170| 32| 30| 33 e 32|32 |170| 32| 38 | 35
2525M15 25|25 (150 | 25| 21 | 40
SN 031506 a0 DC15635 | T20,S4 | DLM5 | DM0625 | L60MSX12 2525M15 2525150 25| 32| 40
SN 001506 DC15635 | T20,S4 | DLM5 | DM 0625 | L60M5X12
3232P15 3232|170 32| 28| 40 3930P15 52| 32 170 | 32| 40 | 40 o o
3232P19 32|32 (170 32| 28 | 40 DCL1934
SN 00190600 MS 1904 | S6,S4 M8X35 | DSP 0814 3232P19 32132 170| 32| 45| 48 DCL1934
36 | 40 @) SN 00190600 MS 1904 | S6,S4 M8X35 | DSP0814
AR 401401200 | 40 4040R19 40 | 40 |200| 40| 43| 48 (#10)

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

ZHIJ7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

#H = 71 A #H o= 7 A

DSKNR/L DTFNR/L

90° T

75°

Applicable Inserts Shim  Wrench ~ Clamp  Clampstrew screw Applicable Inserts Shim Wrench ~ Clamp  Clampscrew SCrew
A1) 5 AR AR BRET Dimension(mm) 3} I PIE: B’E IR Isbigz T
DSKNR/L  2020K12 20| 20| 125 20| 26 | 28 DTFNR/L 2020K16 |® | ®| 20| 20 |125|20 | 25| 28
2525M12 25| 25/ 150| 25| 36 | 28 SNoo 120400 | MS1204 | S3,84 | DCL2612 | DM 0625 DSP 0612 2525M16 | ® | ®| 25| 25|150| 2530 | 26| _ .o MT 1603 | S3 DCL 2211 | DM 0520 | DSP 0510
3232P12 32| 32| 170 32| 38 | 32 3205P16 |® @] 32| 25/170|32 | 30 | 26
30320P16 |® | ®| 32| 32|170| 32 | 38 | 26
90’ 72.5°

o b

B

Applicable Inserts Shim Wrench  Clamp  Clamp screw Applicable Ins'erts Shim Wrench  Clamp C!ampscrew' SCrew
Dimension(mm) 34 ¢ < SR AL BT FEAR e Dimension(mm) &4 < L G TIE HF FeAR  ERCRZ i4T

2020K16 2020K16 20 | 20 |125|20 | 10 | 45
DTGNRL 505m16 25 | 25 |150 | 25 | 30 | 28 o 2525M16 25251150 | 25 112.5) 45
TN oo 160400 MT 1603 S3 DCL 2211 | DM 0520 | DSP 0510 : VN oo 160400 MV 1603 s3 DCL 3113 | M5X25 | DSP 0510
3225P16 32 |25(170|32 | 30| 28 3225P16 32| 25 (170 | 32 [12.5| 45 (R7<F)
3232P16 32 |32(170|32 | 38| 32 3232P16 32| 32(170| 32 | 16 | 45

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

DVJNR/L

93°

Dimension(mm) 54X~

Applicable Inserts
LR [tapa)sy

Shim
JIH

Wrench

T

Clamp
AR

B o= 7 A

Clamp screw
JEAR IR 22

L)

DVJNR/L 2020K16 20| 20 [125] 20 | 26 | 45
2525M16 251251901 25 132 145 ||\ . 160450 MV 1603 | S3,54 | DCL3113| M5X25 | DSP 0510
3225P16 32| 25|170| 32 | 32 | 45 (R~ )
3232P16 32| 32|170| 32 | 40 | 45

95°

95°

Applicable Inserts Shim Wrench  Clamp Clamp screw 5
Dimension(mm) A R Ul PAE:: wF Tk EARIRZZ WR4T
DWLNR/L 2020K08 20| 20 |125| 20 | 25| 32
s4
2525M08 25| 251150| 25| 32| 31| N 45 080400 MW 0804 | DCL 2612 | DM 0625 | DSP 0612
3225P08 32| 25 |170| 32 | 32 | 31
3232P08 32| 32|170| 32 | 39| 31
eren e 201 2011251201 25| 25|\ ., 060300 MW 0603 | S3 DCL2211| DM0520 | DSP 0510
2525M06 25| 25|150| 25| 30| 25

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

#H o= 7 A

DCLNR/L-P

95°

ZHIJ7JE | TURNING TOOLS

al turning toolholders SEXNSYNEIZET]

Dimension(mm) 4 X~

Applicable Inserts
EUSE(EpAYay

Clamp
AR

&

Shim
T

Clamp screw
JEAR IR 22

screw
T B HRET

P

DCLNR/L 2020X12-P| 20 |20 | 10|25 |115|38.5
CN oo 120400 | DC12476 |PK265R/L | 5412-M521 |L60 M4X10| ¢ 7 T15
2525X12—-P| 25 | 25| 4 |32]130|385 G1/s
2525X16—-P| 25 | 25| 12|32 |135|435
CNoo160400| DC16635 | PK267 | 5412-M625 |L60 M5X12| ¢ 8 S4/T20
3232X16—-P | 32 | 32| 6|40 | 147|435
o]
93 g s b RER
:
G1/8

Dimension(mm) 7 R~

Applicable Inserts
IR

Shim
JIH

Clamp
A

T

Clamp screw
R iR 22

screw
JIFIRET

A

Wrench
ETE e

DDJNR/L 2020X15-P| 20 | 20| 7 |25

125

45

2525X15-P | 25 | 25| 3 |32

140

45

DNoo 150600

DD15476|PK265R/L

5412-M521

L60 M4X10

¢7

T15

G1/8

THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com



ZH|J7JE | TURNING TOOLS §AHI

SIERSINEIZET] External turning toolho

DSBNR/L-P
75°

Applicable Inserts  Shim Clamp  Clamp screw SCrew e .
Dimension(mm) AN AT PAE:! FEAR  EMRIZEZ J)RGRET SRS g R

S

25 | 25| 7 | 22 | 135|43.5| SN oo 120400 | DS12476 | PK265R/L | 5412-M521 |L60 M4X10| ¢ 7 T15 G1/8

DSBNR/L 2525X12—P

DVJNR/L-P
93°

h1

Applicable Inserts  Shim ~ Clamp ~ Clampscew _ SCTEW _ Wrench ‘
Dimension(mm) JEA RS AT IR TRl bz JJRIBET wm RE g

&S

VN oo 160400 | DV16320 |PK261R/L | 5412-M521 |L60 M4X10| ¢ 7 T15 G1/8

DVJUNR/L 2020X16—P| 20 |20 | 4 |25 |125|485
2525X16-P | 25 | 25| 0 |32 |140| 48

DWLNR/L-P
95°

h1

G1/8 Thex &1/8

Applicable Inserts  Shim Clamp  Clamp screw screw .
Dimension(mm) BEA RS BRI IR JERR  RhRze JVRIRET ngs

NP I Y

WN oo 080400 | DW08476| PK266R/L | 5412-M521 |L60 M4X10| ¢7 T15 G1/8

Wrench
wF MRS

DWLNR/L 2020X08-P| 20 | 20| O |25 |120| 40

2525X08-P | 25 | 25| 0 |32 |135| 40

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

WTQNR/L
105°

e

Applicable Inserts Clamping screw Shim Wrench Clamp  Clamping stud

Dimension(mm) JEA R~ T HEET T wF JEHR R
WTQNR/L 2020K16 20| 20 [125| 20| 30 | 27
2525M16 25| 25 (150| 25 | 35 | 27 |  TNoo 16040s MT 1603 Sszf WTL16 | SZ0515
3232P16 32| 32|170| 32 | 45| 32 WMO0525
2525M22 25| 25 |150| 25 | 38 | 36
TN02204 oo MT2204 | S3S4 | WTL22 | Szo618
3230P22 32| 32 |170| 32 | 45 | 36
o 60
93 . ;
s (@\ b
13
e

Applicable Insgrts (lamping screw Clamp  Clamping stud
Dimension(mm) %j&ﬁﬂ‘ BaETYANE WEAET JEH RV
WTJNR/L 1316H16 13| 16 [100| 31 | 20 | 20
1616H16 16| 16 |100| 31 | 22| 32
2020K16 20| 20 |125| 31| 25| 32|  TNoo 160400 MT 1603 Sszf WTL16 | SZ0515
2525M16 25| 25 [150| 31 | 32 | 32 WM0525
3232P16 32| 32|170| 31 | 39 | 36
2525M22
2512511501 25 | 32| 38 TNoo2204 oo MT 2204 $3,54 WTL22 | SZ0618
3232P22 32|32 (170| 32| 39| 38

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZFHJ7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

60° it Symbol A E c S X —
— Y AR =———— - Wi
h a L /
TP | apreipatndl | BURAGH | BERA S AT FEFIHEER ) S
Type of shank | Steel Shank+ +e il | Carbide Steel Shank | Special Insert
. Oil Cooling Hole | Carbide Shank+| g Application
b Oil Cooling Hole
e
L
1.71##3X Tool holder type I2 NHERE
it Example I I Tool holder diameter
Applicable Inserts  Clamping screw Shim Wrench Clamp  Clampingstud —
Dimension(mm) JEA U~ G [iA) WRET A wTF AR LRRVY 55
3.71¥KE Tool length 4.E®AR Clamping system 5.71A %R Insert shape
C R T W
WTENN  2020K16 20 | 20 |125| 20 | 10 | 34 M p s - ‘ .
%:
2525M16 25| 25|150| 25 |12.5/ 33 TNoo 160400 MT 1603 Sszf WTL16 SZ0515 Q
100 {125 {150 |160 |180 | 200| 250| 300| 350| 400
3232P16 32| 32(170| 32| 16 | 33 WMO0525
2525M22 25| 25 150| 25 [12.5| 33 H ‘K ‘ M ‘ N ‘ Q ‘ R ‘ s ‘ T‘ U‘ v P AR 2 3 D S v
TNoo 2204 oo MT 2204 | S3,54 WTL22 | Sz 0618 Top e e Clarnpig Hole clamping ﬂif{gfjﬁ d D
3232P22 32| 32|170| 32 | 16 | 33
6/ P u K B c
o I [
” : : S RS - -
llse NI\
L F P N
@ 11° el
I 6.71574 Tool holder style I 7.71RkEfs Insert clearance angle
Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud L N 09
Dimension(mm) A4 ) CalpANe WRET JIH T Fetie HvAE
| Iae&%

1
/ 8.41#|% M Cutting direction

WWLNR/L 2020K08 20| 20 |125| 25 | 27 | 32 R L
2525M08 o5 | 25 |150| 32| 32| 32| WNoo 080400 WMO525 | MW 0804 s3 WWL08 | Sz 0618
3232P08 32|32 |170| 40 | 38| 32 s &
- T ¢ S v & IEIN
J HAL 1 A U AT

THREKERFBEREHE] X #1515 % MiBwww.hnsant.com THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com




ZFHI7JB | TURNING TOOLS §AHI §AUI ZH|7JE | TURNING TOOLS

AFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]

o 107°30’
75° 6% ............... . ;
i ] e — — —
I . Dmin
h
S 2D e N ——
107.5° e )
L -
Applicable Inserts Shim  Clmpingstud ~ Clamp  Clampingscrew ~ Wrrench Applicable Inserts Clmpingstud ~ Clamp ~~ Clampingscew — Wrrench
Dimension(mm) A R~ dEEiapales T ] BB xskiggr BE Dimension(mm) JE7s - rdEE[iomals S5 B WCkigg T
S20Q-MCKNR/L12 26|20 |18 | 180 | 14 | 35 S20Q-MDQNR/L1504 26| 20 | 18 | 180 | 13 | 40 MCL1810| WS 061020
X MSP 613 | MCL1810 | WS 061020 S2.5,S3 X MSP613 525,53
S25R-MCKNR/L12 32| 25 |23 | 200 | 165 | 35 S25R-MDQNR/L1504 32|25 | 23 | 200 | 17 | 45
DNoo 1504
S32S-MCKNR/L12 40| 32 | 30 | 250 | 22 | 50 S32S-MDQNR/L1504 40| 32 | 30 | 250 | 20 | 55 R
CNoo 120400 MSP617
S50U-MCKNR/L12 60 | 50 | 48 | 350 | 30 | 60 S32S-MDQNR/L1506 40| 32 | 30 | 250 | 20 | 55
DNoo 150600 MSP619
S40T-MDQNR/L1506 50| 40 | 38 | 300 | 24 | 55
I 930

95° 6% j

Applicable Inserts Shim Clam'gjingstud Clamp  (lmpingsrew ~ Wrench
FHAT

Dimension(mm) JEA s fEHI ) R JIH JEb XCKIBET WTF
Applicable Inserts Shim Clampingstud ~ Clamp ~~ Clampingscrew ~ Wrrench
Dimension(mm) JEA ) R ) Ak BYET B RCKIZET /T
= 20 | 1 1
S20Q-MDUNR/L1504 28 | 20 | 18 | 180 | 17 | 40 X | Mspetg |MCL1B10WS061020) ) o o
SP0Q-MCLNR/L12 26|20 | 18 | 180 | 13 | 40 MCL1810 | WS 061020 S25R-MDUNR/L1504 32 | 25| 24 | 200 | 19 | 40 MCL1814
X MSP 613 $2.5,53 DNoo 150400
CN oo 120400 S40T-MDUNR/L1504 50 | 40 | 37 300 26 55
- 40|32 [ 30 | 250 | 20 | 50
S325-MCLNR/L12 MCL1814 |WS 061025|  S3 MD1504 MCL2114 WS061025 ~ S3
SA0T-MCLNR/L12 50| 40 | 37 | 300 | 26 | 55 MG 1204 | MSP617 $32S-MDUNR/L1506 40 | 32| 30 | 260 | 22| 45 VSPe1o
S50U-MCLNR/L12 60| 50 | 46 | 350 | 31 | 70 S40T-MDUNR/L1506 50 | 40 | 37 | 300 | 26 | 55 - -

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

#H = 71 A

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

#H o= 7 A

MDZNR/L
93° 6% S —— =
\ 1 Dmin

h )

L RS ] u

S ) )

Mmo3”  [3F
- 0
L

MVQNR/L
117°30° 6%—-—-:— -------------
h Dmin
| [ /Z ’\
-_4‘."’_ [ {, _____
S ,\(\ (e) ‘ AN 7/
e = XX

Applicable Inserts Shim Clampingstud ~ Clamp  Campingscrew ~ Wrench
Dimension(mm) FEA ]~} R T8 4] JERR RCKIBET BT
S25R-MDZNR/L1504 36 |25 |23 |200| 22| 35 | 11 X MSP613 S2.5,S3
S32S-MDZNR/L1504 43 |32 |30 (250 | 26 | 40 | 12 DNoo 150400
S40T-MDZNR/L1504 50 |40 | 37 |300| 29 | 50 111.5 N MSP617 | McL1814 | wsos1025|  S3
S32S-MDZNR/L1506 43 | 32| 30|250| 26| 40 | 12
DNoo 150600 MSP619
S40T-MDZNR/L1506 50 | 40| 37 |300| 29 | 50 |11.5
75°
6° !

Applicable Inserts
R Pak: 5T FEAR

Shim (lampingscrew — Wrench

XCKIRET T

Clampingstid ~ Clamp

Dimension(mm) %E4s K~}

Applicable Inserts
R

Shim
Ak

-

Clamping stud

HIET

Clamp
JE AR

(lamping screw
XERURET

Wrench
®F

S25R-MVQNR/L16 32 | 25 | 23200 17 | 12°| 40 X MSP510 | MCL1814
S32S-MVQNR/L16 42 | 32| 30250 22 | 17°| 40 | VNLILI 1604000 WS061025 | 2,53

MV 1603 | MSP513 | MCL2414
S40T-MVQNR/L16 50 | 40 | 37 |300| 27 | 15° | 50

MVUNR/L

93°

Applicable Inserts Shim Clampingstud ~ Clamp ~~ Clampingstrew ~ Wrrench
Dimension(mm) JE4 R ~f ) Fr YA BYET Rt RCKIBET T

-

O
S20Q-MSKNR/L12 26 | 20| 18 [180| 13|157| 31 X MSP613 MCL1810 | WS061020
S25R-MSKNR/L12 32 | 25| 23|200| 17|12°| 35
- o SN 12040001 MCL1814| WS061025 | S2.5,S3
S32S-MSKNR/L12 40 | 32| 30 |250| 22 |17°| 40 MS 1204 | MSP617
S40T-MSKNR/L12 50 | 40 | 37 |300| 27 | 15°| 50

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

S25R-MVUNR/L16 36| 25| 23|200| 20 | 40 | 8 X MSP510

S39S-MVUNRIL16 42| 32| 30 |250 | 23 | 40 VNI 1604077 MCL1814 | WS061025 | S2,S3
MV 1603 | MSP513

S40T-MVUNR/L16 50| 40 | 37 |300| 27 | 55 | 10

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZEI7JE | TURNING TOOLS §AuI

AFLZET] Internal turning toolholders

MVWNR/L
72° 30

Applicable Inserts Shim Clampingstud ~ Clamp  Clampingstrew — Wrench
Dimension(mm) A ]~ I R JIH BYET JEA RCKIBET /T

S25R-MVWNR/L16 36|25|23| 200 | 22 | 35 | 10 X MSP510
2S-MVWNR/L1 48 32|30 | 250 | 25 | 40 | 10 | VNI 160471
S0 18 MV 1603 | Msp513 | MCL1814 | Ws061025 $2,53
S40T-MVWNR/L16 56 | 40|37 | 300 | 29 | 45 | 11
96°

Dmin

! /

Applicable Inserts Shim  Clmpingstud ~ Clamp ~ Clampingstrew ~ Wrench
Dimension(mm) JEA R {0 70 b JIH 4] A XCkEEET R

=

S25R-MVXNR/L16 32| 25| 23 | 200 | 17 | 55 X MSP510
S32S-MVXNR/L16 42132 | 30 | 250 | 21 | 60 | yNr] 16040000 MCL2414 | WS061025 | 52,53

MV 1603 | MSP513
S40T-MVXNR/L16 50| 40 | 38 | 300 | 25 | 68

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

MWLNR/L

95° 6% i

Applicable Inserts Shim Clampingstud ~ Clamp ~ Clampingscrew ~ Wrrench

Dimension(mm) 4 K~ I R Pak: HHET B RCKIBET W)TF
S20Q-MWLNR/L08 25120 | 18 180 | 14.5 36
X MSP613 | MCL1810 |WS061020 | S2.5,S3
S25R-MWLNR/L0O8 32| 25| 23 200 17 40
WNLICJ 08041
S32S-MWLNR/LO8 41| 32| 30 250 22 50
SA0T-MWLNR/LO8 50 | 40| 37 300 27 55 MW 0804 | MSP617 | MCL1814 | WS061025 S3

91° 6% ______________ -

Applicable Inserts ~~ Shim ~ Clampingstud ~ Clamp ~ Clampingscrew ~ Wrrench
Dimension(mm) A R ) Gdz[pAY PAE: ) SRR WCLIEET T

S20Q-MTFNR/L16 25|20 |18 | 180 | 13 35 MCL1810 | WS061020
X MSP510
S25R-MTFNR/L16 32 | 25 | 23 | 200 16 40
TNOIC 160400] S2,83
S32S-MTFNR/L16 40 | 32 (30| 250 | 20 | 45 MCL1814 | WS061025
MT 1603 | MSP513
S40T-MTFNR/L16 50 | 40 | 37 | 300 | 25 50

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

MTQNR/L

#H = 71 A #H o= 7 A

MTUNR/L

6/ g ———————— — 93’ 6% ______________ —

107.5°

Applicable Inserts

Shim

Clamping stud

Clamp

(lamping screw

Wrench

Applicable Inserts

Shim

Clamping stud

Clamp

(lamping screw

Wrench

Dimension(mm) B AEFI T A Ak i) b RCkIgET W/F Dimension(mm) L4 R~ RT3 TIH it A RUCkIgET WF
S20Q-MTQNR/L16 25 | 20 | 18| 180 | 14 | 35 x MSPs10 | MCL1810 | WS061020 SP0Q-MTUNRIL16 25 | 20 | 18 | 180 | 13 | 31 « wisps1o | MCL1810/WS061020
S25R-MTQNR/L16 32 | 25 | 23| 200 | 18| 35 N 32 | 25 | 23| 200 | 17 | 35
S32S-MTQNR/L 40 | 32 | 30| 250 | 21 | 40 TN 160400 MCL1814 | WS061025 5283 SR ISR TNOIC 16040001 S2,83
- = 40 | 32 30 250 22 40 MCL1814 |W 102
32 & 16 MT 1603 | MSP513 Sems bl MT 1603 | MSP513 cLis 5061025
S40T-MTQNR/L16 50 | 40 | 37| 300 | 25 | 50 S40T-MTUNR/L16 50 | 40 | 37 | 300 | 23 | 50
93° 6% ______________ - 60° .
1 6 =
|
Dmin

A_(,g d
L
Applicable Inserts Shim Clampingstud ~ Clamp ~ Clampingscrew ~ Wrench
Dimension(mm) FEA R ez iyl JIH AT AR SELIBET  RTF Applicable Inserts Shim Clampjngstud Clan'lp (lamping screw Wrgnch
Dimension(mm) FA4< s} fERIITI R T8 AT B XCKIRET BT
S25R-MTJNR/L16 32 | 25 | 23 | 200 | 15 | 40 X MSP510
S20Q-MTWNR/L16 15 | 31 MCL1810| WS061020
$325-MTINR/L16 40|32 |20 | 20 18|45 | srsya | MCL1B1WS0B1025| 52,83 SZS(RlMTWNR/L16 271 20) 18 | 180 X | Mspsio
MT 1603 | MSP513 ’ -
S40T-MTJINR/L16 50| 40 | 37 | 300 | 24 | 55 32| 25| 23 200 | 17 | 35
S32S-MTWNR/L16 40 | 32| 30 | 250 | 22 | 42 | TNOIC) 16040000 MCL1814 |WS061025| S2,S3
MT 1603 | MSP513
S40T-MTWNR/L16 50| 40| 38 | 300 | 27 | 50

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

PCLNR/L

95°

Applicable Inserts Screw  Wrench  Lever Shim Shim pin

ERI R WRET w"F FLAF JIE A
S16Q-PCLNR/L09 20 | 16 | 15 |180| 10 |-12°| 30
S20Q-PCLNR/L09 25| 20| 18 | 180| 12 |-11°| 30 | CNoo 090300 VHX0509 S2 Lv3C - -
S25R-PCLNR/L09 32| 25|23 |200| 15 |-10° 35
S20Q-PCLNR/L12 25 (20| 18 |180| 13 |-11° 35

VHX0613 S2.5 LV4A - -

S25R-PCLNR/L12 32| 25|23 |200| 15 | 12°| 40
S32S-PCLNR/L12 44 | 32 | 30 |250| 22 [-10° 50

CNoo 120400
S40T-PCLNR/L12 54 | 40 | 37 |300| 24 |-10°| 55 VHX0821|  S3 Lv4 PC12318| SP4
S50U-PCLNR/L12 63 | 50 | 47 |350| 27 |-10°| 58
S50U-PCLNR/L19 63 | 50 | 47 | 350 | 32 |-10°] 70 | CNoo 190600 VHX1027 S4 LV6 PC19476 SP6

PDSNR/L

62° 30

Dimension(mm) J&4s K )

Applicable Inserts
BRI R

Screw
WRET

Wrench
BF

Lever
FLAT

Shim
I

=

Shim pin
ol

S$39S—-PDSNR/L15 40| 32| 30| 250 |235| 45 | 9

DNoo 150600 | VHX0821 s3 LV4B | PD15318 | SP4
S40T-PDSNR/L15 50 | 40 | 37 | 300 |28.5| 43 | 11
S32S-PDSNR/L15-3 40| 32| 30| 250 |23.5| 45 | 9

DNoo 150400 | VHX0821 S3 Lv4 | PD15318| SP4
S40T-PDSNR/L15-3 50 | 40 | 37 | 300 |28.5| 43 | 11

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

#H o= 7 A

PDUNR/L
93°

Dmin

Applicable Inserts Screw
eI R o34

Wrench Shim Shim pin

Dimension(mm) FEA R~ T ALAT JIH A

&

S20Q-PDUNR/L 11 25| 20 | 18 | 180| 13 |_16°| 30
S25R-PDUNRIL 11 a2 | 25| 23|200| 17 | 13| 35 | DNuo 110400 | X012 82 LV3D - -
S32S-PDUNRIL 11 40 | 32 | 30 | 250 22 |-16°| 40 VHX0617 | S2.5 Lvsa | PD11270| SP3
S32S-PDUNRIL 15 40 | 32 | 30 | 250| 22 |-16°| 50

DNoo 150600 | VHX0821|  S3 LV4B | PD15318| SP4
S40T-PDUNR/L 15 50 | 40 | 37 | 300| 27 [-11° 50
S325-PDUNRIL 15-3 40| 32 | 30 |250) 22 |-16°) 50 DNoo 150400 | VHX0821|  S3 Lv4 | PD15318| SP4
S40T-PDUNR/L 15-3 50 | 40 | 37 |300| 27 |-11° 50
PSKNR/L

Applicable Inserts Screw  Wrench  Lever Shim Shim pin

Dimension(mm) FEA R~} R ) BRET #F FTAF I B

S25R-PSKNR/L 12 32| 25| 23 |200| 17 |-12°| 42 VHX0613 | S2.5 LV4A - -
S32S-PSKNR/L 12 44 | 32 | 30 |250| 22 |-10°| 45 | SNoo 120400 Vhix S N P

0821 3 12318 4
S40T-PSKNR/L 12 54 | 40 | 37 | 300| 27 |-10° 50

THRACEFBREHE X #EEEMNBwww.hnsant.com




S | INUS

ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

PTFNR/L

90°

Dimension(mm) %E4% R~

Applicable Inserts
R T R

Screw
BET

Wrench
WF

Lever
FUAF

#H = 71 A

Shim
T

Shim pin
sl

S16Q-PTFNR/L 11 20 | 16 | 15 180 11 28
S20Q-PTFNR/L 11 25|20 | 18 | 180 | 13 | 31 TNoo 110300 VHX0509 S2 Lv2 - -
S25R-PTFNR/L 11 32| 25| 28 200 17 35
S25R-PTFNR/L 16 32| 25| 23 | 200 | 17 | 42 VHX0512 | S2 Lv3B - -
S32S-PTFNR/L 16 44 | 32| 30 | 250 | 22 | 50 | TNoo 160400
VHX0613| S2.5 LVv3 PT16476 SP3
54 | 40 | 37 300 27 55

S40T_PTFNR/L 16

PWLNR/L

95°

Applicable Inserts ~~ Screw ~ Wrench ~ Lever ~ Shim  Shim pin
Dimension(mm) JEA R <f T 25T BT FLAF Ak IR
O
S16Q-PWLNR/L06 20 | 16| 15 |180| 11 |-13°| 25
S20Q-PWLNR/L06 25| 20| 18 | 180| 13 |-13°| 32 WNoo 060400 VHX0512 S2 LV3B —_ —
S25R-PWLNR/L0O6 32 | 25| 23 |200| 17 |-13° 35
S20Q-PWLNR/L08 25 | 20| 18 |180| 13 |-13° 32
o 4 VHX0613 S2.5 LV4A - -
S25R-PWLNR/L0O8S 32| 25| 23 |200| 17 |-13° 45 WNoo 080400
o 4 2 -13°| 50
S32S-PWLNR/L08 0| 32| 30 |250| 22 |-13 VHX0821 33 e pwosstal spa
S40T-PWLNR/LO8 50 | 40| 42 |300| 30 |-13° 55

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

#H o= 7 A

DCLNR/L

95°

Dimension(mm) 4 X~

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

Applicable Inserts

IR

S25R-DCLNR/L 12-D 32|25 | 23|200{ 17 |13 | 45
S32S-DCLNR/L 12 40 |32 | 30 |250| 21 |13 | 45
S40T-DCLNR/L 12 50 |40 | 37 |300| 25 |12 | 50
S50U-DCLNR/L 12 60 |50 | 47 {350/ 32 |12 | 55

CN oo 120400

Shim Wrench  Clamp  Clampscrew srew

I wWF JERR AR BRET
MC1203 |S3, T15| DML4 | DM 0520 |L60 M4*8.4
MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612

DWLNR/L

95°

Dimension(mm) HEA R ~f

Applicable Inserts

SRR

r"/ _ \

S25R-DWLNR/L 08-D 32|25 | 23|200/ 17 |13 | 40
S32S-DWLNR/L 08 40 |32 | 30 |250| 22 |13 | 45
S40T-DWLNR/L 08 50 (40 | 37 {300/ 24 |12 | 50
S50U-DWLNR/L 08 60 |50 | 47 {350/ 29 |12 | 55

WNoo 080400

Shim Wrench  Clamp  Clampscrew screw

T T bR ERRZ WRET
MW 0803 |S3, T15| DML4 DM 0520 |L60 M4*8.4
MW 0804 | S4,S3 | DCL2612 | DM 0625 | DSP 0612

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZH|J7JE | TURNING TOOLS §AMI

SCLCR/L
95°

Applicable Inserts
Cdziliopala
Stockl# {7
od s e
R| L

S07K-SCLCR/L 06 9 7 6 125 4.6 15

. 10 | 8 7 125 45 | 14
SO8K-SCLCRL 06 CCaT 060200 L60M2.5X5 T08

S10K-SCLCR/L 06 12 | 10 9 125 6 17

S12M-SCLCR/L 06 16 | 12 11 150 7 17

S12M-SCLCR/L 09 16 12 11 150 8 25

S16Q-SCLCR/L 09 20 | 16 | 15 180 9 27
CCoT 097300 L60M4X8 T15

S20Q-SCLCR/L 09 25 | 20 18 180 11 28

S25R-SCLCR/L 09 32 | 25 | 23 200 14 35

S25R-SCLCRIL 12 32 | 25 | 23 200 17 38
S32S-SCLCR/L 12 36 | 32 | 30 250 18 45 CCaT 120400 L60M5X12 T20

S40T-SCLCRIL 12 50 | 40 | 37 300 27 60

95°
0% _____________ -
i ]
h
]
S of O
5 e 3
L

Applicable Inserts
R R

Stock[i 77
od s e e
R|L
SO8K-SCLCR/L 06H09 9 | 8 7 |125 | 43 |-158°| 15
S10K-SCLCR/L 06H11 1110 | 9 |125 | 55 |-13°| 16 CCuT 060200 L60M2.5X5 To8
S12M-SCLCR/L 06H13 13 | 12 11 | 150 | 6.5 [-10°| 17
516Q-SCLCR/L 09H17 17 | 16 | 15 | 180 | 85 |-12°| 27 CCoT 09T3un L60M4X8 Ti5

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

SCKCR/L
75°

Dmin

Applicable Inserts Screw
R R 124]

Stock 7
s |6 | e

R|L
SO08K-SCKCR/L06 10 8 75 | 125 | 55 | 13° | 15
S10K-SCKCR/L06 13 10 9 125 7 12 15 CCo T 060200 L60M2.5X5 Tos
S12M-SCKCR/L06 16 12 11 150 8 10° 20
S12M-SCKCR/L09 16 12 11 | 150 8 12° | 20
$16Q-SCKCR/L09 20 16 15 | 160 10 10° 25 CCo T 09T340 L60M4X8 Ti5
$20Q-SCKCR/L09 24 20 19 | 180 | 13 | 8° 30
S25R-SCKCR/L09 31 25 24 | 200 16 8° 35

SDQCR/L
107°30'

Applicable Inserts
Dimension(mm) LA R~ AR D B

S08K-SDQCR/LO7 10| 8 | 7 |125| 6 | -8

S10K-SDQCR/L 07 13 10| 9 [125| 7 | -8 | 20 DCoT 070200 L6OM2.5X5 Tos
S12M-SDQCR/L 07 16| 12| 11 |150| 9 | -8°| 22

$16Q-SDQCR/L 07 20 | 16 | 15 |180| 11 | -6°| 27

$20Q-SDQCR/L 11 25| 20| 18 |180| 13 | -6°| 35 DCoT 117300 L60M4X8 T15
S25R-SDQCR/L 11 32| 25| 23 |200| 17 | -6°| 38

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZFHI7JB | TURNING TOOLS §AuI §AUI ZH|7JE | TURNING TOOLS

s
AFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]
SDXCR/L SDUCR/L

120° ., | Y 93°

Applicable Inserts Applicable Inserts
Dimension(mm) A SER) R IR
S10K-SDXCR/L 07 13| 10| 9 | 125 7 -8° | 18 S08K-SDUCR/LO7 13|08 | 75| 125| 8 | -8° 4
S12M-SDXCR/L 07 16 | 12| 11 | 150 8 -8 | 20 DCoT 070200 L60M2.5X5 T08 S10K-SDUCR/L 07 13 (10 | 9 |125] 7.7 | -8&° 3 DCo T07020m L6OM2.5x5 o8
$16Q-SDXCR/L 07 20| 16| 15| 180 | 10 | -6° | 25 S12M-SDUCR/L 07 16 | 12 | 11 | 150 8.5 | -8°| 22 | 3
$20Q-SDXCR/L 11 25| 20| 18| 180 | 13 | -6° | 33 $16Q-SDUCR/L 07 20 | 16 | 15 | 180| 11 | —6°| 27 | 35
S25R-SDXCR/L 11 32| 25|23| 20 | 16 | -6 | 32 DCoT 117300 LoOM4X8 s $20Q-SDUCR/L 11 25 | 20 | 18 | 180|14.5| —6°| 30 | 5.5
DCo T11T300 L60M4X8 T15
S25R-SDUCR/L 11 32 | 25 | 23 | 200|185 -6°| 35 | 7
30! s 93°
62°30 T | Y
: h Dmin
- & - o
x| | B | 7
]_'é-‘%_.'il_ } //\_ S| ¢ j: 7/
I 7 J i € L L

Applicable Inserts Applicable Inserts Screw Wrench
7] A Dimension(mm) JEA <) R 25T T
Stock [/
R |L
S12M-SDWCR/L 07 19| 12| 11 [125| 11| =8| 15| 55 S20Q-SDZCR/LA1 27 | 20 |18 |180 | 16 | —&'| 20 | 75
S16Q-SDWCR/L 07 23| 16 | 15 |180(12.5 -8°| 15| 5 DCAT 070200 L60OM2.5X5 Tos S25R-SDZCRIL 11 33 | 25 | 23 |200 | 19 | -6°| 30 | 7.5 DCs T11T30s L6OMAXE 15
S20Q-SDWCR/L 07 27 | 20| 19 | 180|14.5/ -8°| 22 | 55 S32S-SDZCRI/L 11 40 | 32 | 30 |250 | 23 | 6| 35 | 8.4
S20Q-SDWCR/L 11 27 | 20| 19 |180|14.5| -6°| 25| 6 S40T-SDZCRI/L 11 50 | 40 | 37 | 300 | 28 | -4 | 50 | 9.4
S25R-SDWCR/L 11 32| 25| 24 |200| 18 | -6°| 25 7 DCaT 117300 L60M4X8 T15
S32S-SDWCRI/L 11 40 | 32 | 30 |250(21.5| -6°| 40 | 6.5

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com



ZFHJ7JE | TURNING TOOLS §AMI §AHI ZFHI7JE | TURNING TOOLS

AFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]

o o
" o = ) Ruee——
S/ 1 | {
\ i R ] Dy ) Dmin
NN\ T \_—|Hx_
s| (@l L—W— 0\
e mi
L
Applicable Inserts
CEElpANS
. . Applicable Inserts
Dimension(mm) AU GUElpANs Stock /7
R|L
S08K-STFCR/L09 10 08 7 125 5.5 8
S10K-STFCR/L09 12 | 10 9 125 6.8 | 10 TCo T 090200 L60M2.2X6 To6
S12M-SSKCRI/L 09 16 | 12 | 11 | 150 9 | -10°| 25 S12M-STFCR/L09 16 | 12 | 11 150 8 | 10
S16Q-SSKCR/L 09 20 | 16 | 15 | 180 | 11 | —-11°| 30 S12M-STFCR/L11 14 | 12 | 11 150 65 | 25
S20Q-SSKCRI/L 09 25 | 20 | 18 | 180 | 13 | _° | 35 SCo T 097300 L60M4X8 T15 S16Q-STFCRIL 11 18 | 16 | 15 180 9 | 25 TCo T 110200 L60M2.5X5 Tos
S25R-SSKCR/L 09 32 | 25 | 23 | 200| 17 | -8° | 40 S20Q-STFCR/L 11 25 | 20 | 18 180 11 | 25
— (o] .
S25R-SSKCRI/L 12 82 | 25| 23 | 200 17 | -8° ) 40 SCo T 120400 L6OMS5X12 T20 S25R-STFCRIL 16 R S T LA s TCo T 16T300 L60M4XS T15
S32S-SSKCRI/L 12 40 | 32 | 30 | 250 | 22 | -10°| 45 S32S-STFCR/L 16 3 | 32 | 30 250 18 | 50
S40T-STFCR/L 16 50 | 40 | 37 300 25 | 60
SSSCR/L 60° i
45° -
[
g i
©
| 7
s S Applicable Inserts
Dimension(mm) FA< ) 7]
Applicable Inserts
G lapANa
S10K-STWCRI/L 11 14 10 9 125 8 |-10°| 14
Stock fF17 S12M-STWCRIL 11 16| 12 | 11 | 150 | 9 |-13°| 25
RIL S16Q-STWCR/L 11 20 | 16 | 15 | 180 | 11 |-10°| 30 TCo T 110200 LB0M2.5X5 To8
S12M-SSSCR/L 09 17 12 | 11 | 150 | 10 | -10°| 15 | 4.5 S20Q-STWCR/L 11 25 | 20 19 | 180 | 13 | -6° | 30
S16Q-SSSCR/L 09 22 16 | 15 | 180 | 13 | -11°| 25 | 55 S25R-STWCR/L 11 32 | 25 | 24 | 200 | 17 | -6° | 35
S20Q-SSSCRI/L 09 25 | 20 | 18 | 180| 15 | -6° | 30 | & SCu T 09T30o L60M4X8 T15 S20Q-STWCR/L 16 25 | 20 | 19 | 180 | 145 | —3° | 36
S25R-SSSCR/L 09 32 25 | 23 | 200| 17 | -8° | 35 | 55 S25R-STWCR/L 16 32 25 24 | 200 | 17 | —6° | 49
TCo T 16T3o0 L60M4X8 T15
= _g° S32S-STWCR/L 16 ~10°
S25R-SSSCRIL 12 32 | 25 | 23 | 200 | 17 8 35 | 55 SCo T 120400 LEOMBX12 T20 39 | 32 | 30 | 250 | 22 |-10°| 50
S32S-SSSCR/L 12 40 | 32 | 30 | 250 | 22 | -10°| 40 | 7 S40T-STWCRI/L 16 50 | 40 | 37 | 300 | 25 | _g° | 50

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THRACEFBREHE X #EEEMNBwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

STFPR/L

91°

Stock [4/7

R

L

=

L

Dmin

Applicable Inserts
R

S08K-STFPR/L09 10 08 7 | 125 5 | -10°| 14 TPo T 090200 (si%)
S10K-STFPR/L11H11 11 10 9 125 | 55 | -13°
S12M-STFPR/L 11H13 13 | 12 | 11 | 150 | 6.8 | -10° TPo T 110800 zece | -OOME2X5 08
S16Q-STFPR/L 11H17 17 16 15 | 180 | 8.8 | —-8°
93° oY
~ I

Dmin

Applicable Inserts
COELNpANSY

S08K-STUCR/L09 11 | 08 | 7 | 125 | 55 | -15°
-15° | 24
SR AR = LD B 16 15125 | 85 TCo T 090200 L60M2.2X6 To6
S10K-STUCR/L09 13 10 9 | 125 6 |-13°| 10
S10K-STUCR/L09-A16 13 16 15 | 125 7 | -18° | 30
S10K-STUCR/L11 13 10 9 125 7 |-12° ] 10
S10K-STUCR/L11-A16 16 16 15 | 125 7 | —-12° | 30
= -10° | 25
S12M-STUCR/LT1 16 2 B ’ TCo T 110200 L60M2.5X5 TO8
S12M-STUCR/L11-A16 16 16 15 | 150 7 |-10°| 30
S16Q-STUCR/L11 20 16 15 | 180 9 | -8 | 25
S20Q-STUCR/L11 25 20 19 | 180 | 11 | -6° | 25
S25R-STUCR/L11 31 25 24 | 200 15 | -4° 34
S20Q-STUCR/L16 25 20 19 | 180 | 13 | —-8° | 36
S25R-STUCR/L16 31 25 24 | 200 | 17 | -6 40 TCu T 16T300 L60MAXS s
S32S-STUCR/L16 39 32 30 | 250 | 18 | -4° | 50
S40T-STUCR/L16 50 40 38 | 300 | 25 | -2° | 60

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

#H o= 7 A

SVQCR/L

107.5°

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

Applicable Inserts
fERMII R

Stock [77
Dmin| ¢d | h | L s| o e f
R|L
S20Q-SVQCR/L16 27 | 20 | 18 | 180| 15 | -8° | 40 | 6.0
stR—SVQCR/L1 6 32 25 23 200 | 18.5 —80 45 6.9 VCo T 16040 o L60M4X8 T15
S32S-SVQCR/L 16 40 | 32 | 30 |250| 22 | _g° | 56 | 8.4
S40T-SVQCRIL 16 50 | 40 | 37 |300| 27 | _g° | 64 | 9.4

SVQBR/L

107.5°

Applicable Inserts
] R

Stock 7
Dmin| ¢d | h | L s o e f
R|L
S20Q-SVQBR/L16 27 | 20| 18 | 180 | 15 | -8°| 40 | 6.0
S25R-SVQBR/L16 82 | 25| 23 | 200|18.5| -8"| 45 | 6.9 VBo T 16040 o L60M4X8 T15
S32S-SVQBR/L 16 40 | 32| 30 |250| 22 | _g°| 56 |84
S40T-SVQBR/L 16 50 | 40| 37 |300| 27 | _g°| 64 | 9.4

THRACEFBREHE X #EEEMNBwww.hnsant.com




ZFHI7JB | TURNING TOOLS §AMI §AHI ZH|7JE | TURNING TOOLS

AFLZET] Internal turning toolholders n steel Internal Turning tools $25NMAFLZET]

SVUCR/L SVXCR/L

93° o i )

Applicable Inserts Appfljléc%bé(; Iﬂn)se:ts
R i
S16Q-SVUCR/L11 22 | 16 | 15 | 180 | 135 | 24 | 6 VCo T 110300 L60M2.5X5 Tos S16Q-SVXCR/L11 20| 16| 15 | 180 | 95 | 35 | 2 VCa T 11030 L6O0M2.5X5 08
S20Q-SVUCR/L16 31 |20 | 19 | 180 | 19 | 32 | 95 S2UeES PRI 25| 20 | 18 180 | 13 | 40 | 4
S25R-SVUCR/L16 35 | 25 | 23 | 200 | 20 | 32 | 8.4 VCo T 160400 L60M4X8 Ti5 SR SRS 8225 | 23 | 200 | 145 40 | 38 VCo T 160400 L60M4X8 Ti5
332S-SVUCRIL 16 a2 | 32 | 30 | 250 | 22 49 | 84 S32S-SVXCR/L 16 40 | 32 | 30 250 21 62 6
40T-SVX L1
S40T-SVUCR/L 16 51 | 40 | 37 | 800 | 27 | 49 | 11 S40T-SVXCR/L 16 50 | 40 | 37 | 300 | 24 | 62 |55
° )y
0 o
AGW _______________ _L- 93 oag r// T
h Dmin : Dmin
. , o h
i 3 g
-0 ® gz= =1
\ / U e T | €97 @7 M — B
72.5°1F 31 Sy f il
e 5
e L
L

Applicable Inserts

EFRRII Applicable Inserts Screw

Dimension(mm) £ R~ EAEII A BRET

Stock /7 Stock 17

i 5 R|L
S16Q-SVWCR/L11 25| 16 | 15 | 180 | 14 | 25 | 6.9 VCo T 110300 L60M2.5X5 To8 S16Q-SVZCRIL 11 2 | 16 | 15 | 180 | 135| 15 | 65
S20Q-SVWCR/L16 32| 20 | 18 | 180 | 22 | 25 |129 S200-SVZCRIL 11 28 | 20 | 18 | 180 6 | 22 |75 VCo T 1103co L60M2.5X5 TO8
S25R-SVWCR/L16 36| 25 | 23 | 200 | 22 | 30 | 10 VCa T 160400 L60M4X8 Ti5 S25R-SVZCRIL 16 21| o5 | 23 | 200 | 21 | 30 | 10
S32S-SVWCRI/L 16 45| 32 | 30 250 | 27 | 42 |12.2 S32S-SVZCRIL 16 20 | 32 | 30 250 23 35 9 VCo T 160400 L60M4X8 T15
S40T-SVWCRIL 16 56 40 | 87 | 800 | S0 | S0 | ' S40T-SVZCRIL 16 50 | 40 | 37 | 300 | 29 | 40 | 11

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THRACEFBREHE X #EEEMNBwww.hnsant.com




S | INUS

ZHIJ7JE | TURNING TOOLS

£2$MINFLZEJ] Tungsten steel Internal Tu

SWUBR/L

Applicable Inserts
fER )R

Screw
BRAET

CO05H-SWUBR/L06 6 5 45100 | 38 |-13°| 7
C06J-SWUBR/L06 7 6 55| 110 | 3.5 |-13°| 7

WBoT06010n

L60M2.0X4.3

T06

SCLCR/L

Applicable Inserts

ERRI
C07K-SCLCR/L06 10 7 |65 | 125 | 45| -15°| 8
C08K-SCLCR/L06 10 8 75 | 125 5 | -15°| 8

CCoT0602 oo L60M2.5X5 TO8
C10M-SCLCR/L06 12 | 10 | 95 | 150 | 6 |-13°| 14
C12Q-SCLCR/L06 14 | 12 | 11 | 180 | 7 |-10°| 14
C12Q-SCLCR/L09 16 12 11 180 8 | -10°| 14
C14Q-SCLCR/L09 16 | 14 | 13 | 180 | 8 |-12°| 18
C16R-SCLCR/L09 18 | 16 | 15 | 200 9 | -12°| 20 CCouT09T3o L60M4X8 T15
C20S-SCLCR/L09 22 | 20 | 19 | 250 | 11 | —g°| 26
C25T-SCLCR/L09 28 | 25 | 23 | 300 | 14 | -6°| 29

it | BNAERAITFRETRETRRIAERSAMESHEFEE

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

STFCR/L

ZHIJ7JE | TURNING TOOLS

steel Internal Turning tools 25N FLZET]

| 65
- &

Applicable Inserts Screw Wrench

IR IRET T
CO8K-STFCR/L09 10 ) 8 | 75)125| 5 | -10| 8
C10M-STFCR/L09 12 110 | 95 | 150 | 6 | -10 | 14 TCoT090240 L60M2.2X6 To6
C12Q-STFCR/L09 16 | 12 | 11 | 180| 8 | -5 | 14
C12Q-STFCR/L11 16 | 12 | 11 | 180 | 8 | -6 | 14
C16R-STFCR/L11 18 | 16 | 15 | 200 9 | -6 | 20 TCoT110200 L60M2.5X5.0 T08
C20S-STFCR/L11 25 | 20 | 19 | 250 | 12 | -6 | 26

STUPR/L

Applicable Inserts
T

é¢6d| h| L | s |6 | e
CO08K-STUPR/L09 11| 8 |75|125| 55| -10| 8
C10M-STUPR/L09 13 | 10 | 95|150| 65| -8 | 14 TPoT090200 (RE) L60M2.5X5.0 TO8
C12Q-STUPR/L09 16 | 12 | 11 [180| 75| -6 | 14
C12Q-STUPR/L11 16 | 12 | 11|180| 75| -6 | 14
C16R-STUPR/L11 18 | 16 | 15 |200| 9 | -6| 20 TPoT110300 (RE) L60M3.0X7 T10
C20S-STUPR/L11 25 |20 | 19 |250| 12| -6 | 26

T BINAERITIFRATRETRSHIAF RS SHE TR

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THRACEFBREHE X #EEEMNBwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

$55MAFLZET] Tungsten steel Interna

SDQCR/L

B o= 7 A

e
E_ % J
.

Applicable Inserts Screw Wrench
Dimension(mm) A< R~ FERIII A IRET T

C10M-SDQCR/L07 13 10 | 9.5 [ 150 | 7 -8° | 14
C12Q-SDQCR/L07 16 | 12 | 11 | 180 | 9 | -8 | 14 DCoT070200 L60M2.5X5. 0 108
C16R-SDQCR/L07 20 | 16 | 15 | 180 | 13 | -8° | 20

SDUCRI/L

Applicable Inserts Screw
FERIT ) BT

Stock/ {7
od s & e
R|L
C10M-SDUCR/L07 13 | 10 | 9.5 | 150 | 7 | -8° | 14
C12Q-SDUCR/L07 16 | 12 | 11 | 180 | 9 | -8 14 DCLT0702m L6OM2.545. 0 108
C16R-SDUCR/L07 20 | 16 | 15 | 200 | 11 | -8 | 20
C20S-SDUCR/L07 25 | 20 | 19 | 250 | 13 | -6° | 16

&t BRARALDFRITRETR ST ER A SHEF TR

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THREKERFBEREHE] X #1515 % MiBwww.hnsant.com

B o= 71 A

-—

H] Right

V) Left

Cutting direction

3.0EIH R I

€5

SUbRVEREEAL f5):h=8mm, #7408
Integers to be proceeded by 0

eg:h=8 indicated by 08

IR HI004 7R

ANNREE
Tools-tip height

3EfHl Example

S W

LEgﬁﬂl

Clamping System

Cc

Top clamping

RAT TR

Screw on

|
ngﬁﬁ;it Type of thread

N 22 Internal

5. 71K T E shank width

W | 4hi4 Extemal

THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

olders code key 1RLJJHIEIS RN

K

Length

100

125

150

170

180

200

1R
Code
H
£ b K
A\ Bl bl
M
fi:b=8mm, ¥ %08
Integers to be proceeded by 0 ]
eg:b=8 indicated by 08 P
B IR AR R Q
R
S

250

G”H&E Tool holder length

7.77F R~ Insert dimension

|
25 25 M 16

ggi Cuttﬁgﬁj e)c?gjfjl{;ngth Inscribeljc? 1zgle dia.
11 11 6.305
16 16 9.525
22 22 12.70
27 27 15.89




| INUS

ZHIJ7JE | TURNING TOOLS

¥2477] Threading toolholders

JMBEN%ET] External threading tools

#H = 71 A

ZHIJ7JE | TURNING TOOLS

Threading toolholders #24¢7]

#H o= 7 A

IR ET] Internal threading tools

=)
H 1 | |
h]_gl/Y : =z ;
h
. b _ pw ! e . @Dmin
@ S J I 1 1¢d
KR A AT L KR AT L1 .

Applicable Inserts

Screw

Shim Screw

i i { 2 Hu Applicable Inserts ; Screw Wrench  Shim Screw
Dimension(mm) J4/2 S B A Dimension(mm) A} PR T 4T I Y
Stock J#iff
SWR/L  1010H1TH 10| 10/ 10 100} 16 R/LT11.01W-00GM | L60 M2.5x 6 T08 SNR/LO010K11H
01W-0o 5x — — 10 [125 12| 6 |95 32 _
1212H11H 12| 12| 12 |100| 16 0010 LT11.01N-0oGM — L60 M2.5x5 | T08
....................................................................................................................................................................................................................... SNR/LO012K11H 12 [125 16| 6 [11.5| 32 RT11.01N-ooGM
1616H16H 16116 16 00| g |7 g SNRAQOTZKTTR | 120125 6 8 s 82 A e
SNR/L0013M16H 13 [150 16|10 [15.5| 32
2020K16H 20| 20| 20 | 125| 25 — L60 M3.5x8
T15 SNR/L0016M16H 16 [150 20|12 [15.5] 40 T15
2525M16H 25| 25| 25 |150| 32| R/LT16.01W-0oGM | L60 M3.5x 12 TT16-00 5504008 e B B o : LT16.01N-coGM
S2.5 SNR/L0020Q16H 20 |180 25|14 [19.5| 40
3225P16H 32| 32| 25 |170| 32 RT16.01N-0oGM TT16 L60 M3.5x12 -
SNR/L0025R16H 25 200 30|16 | 24 | 45 : T15
3232P16H 32| 3232|1700 40| | e O 22 E R eR IR s iy $504008
2525M22H 25| 25| 25 | 150| 32 | SNRILO0S2SISH| 821250 18820180156 T
20 SNR/L0025R22H 25 | 200 30|18 | 24 | 45
3225P22H 32| 32| 25|170 32 | R/T22.01W-00GM | L6OM5x16 | TT22-00 |  SS04008 ST2 5 HEE s O O RT22.01N-c0GM TT00 L6OM5x16 | T20 SS04008
3232P22H 32| 32| 32170 40 ' Wbl .| 32|20  198]22)80 85| LT22.01N-0oGM 525
40455551 20| 40| 20 250! 50 SNR/L0040T22H 40 | 300 46|26 | 38 | 60

*EH: BETDHEZWSEkIMNSEA. Note:Theinsertis Zccct brand.

Applicable Inserts S}S;EV; ShiTnngchW Wrench ]
Dimension(mm) £ R~ R JI 25T JIHIEET Applicable Inserts Screw Wrench  Shim Screw
(T Dimension(mm) A4 BT ) T JJRIZET
Stock [ 17
SWR/L 1010H11 10 | 10| 10 |100| 16
TMERL L60 M2.5x6 - - To8 SNR/LO010K11 10 |125 12] 6 |95 32
1212H11 12 | 12| 12 |100| 16 111IR/L — L60 M2.5x5 TO8
....................................................................................................................................................................................................................... 12 l12 ] 115/ 32
1616H16 16 16 16 100 20 SNR/L0012K11 .................................... 5 6 6 ........ 5 3 .......................................................................................................................................
2020K16 20| 20| 20 |125| 25 SNREEODTSMLE 13 |150] | 16110 1155 32 — L60 M3.5x8
T15 SNR/L0016M16 16 |150 20|12 [15.5| 40 T15
2525M16 25| 25| 25 |150| 32 16ER/L L60 M35x 12| TT16-00 S504008 525 [ e bl o )
3095P16 a2 | 2| 25 | 170] 32 SNR/L0020Q16 20 | 180 25|14 [19.5| 40 o e PR
3232P16 32|s2|a2l170/40] | SNRALO025R16 | | 251200 | 30)16 |24 |45 =X g | 504008
2525M22 25 | 25| 25 | 150| 32 . .SNR/L0032S16 821280| 188120180 | 85 | e T
SNR/L0025R22 25 |200 30|18 |24 | 45
3225P22 321 32|25 (1701 32| | L E T T SRR LTS T
22ER/L L60 M4x16 | TT22-oo T20 $S04008
3535P22 32 | 32| 32 |170| 40 20 ~ SNR/L0032522 | - |82)250 38|22 |30 | 55 22IR/L TT22 L60 M4 x 16 s2.5
$504008
4040822 40 | 40 | 40 |250| 50 S2.5 SN IEe .| 401300 46126138 | 60 :
SNR/L0032S27 32 |250 40|24 |30 | 55 T20
3232P27 32| 32|32 [170| 40 ot ] e ) R ; SS504008
27ERIL L60 M6x 16 | TT27-00 27IR/L TT27 L60 M6 x 16 S2.5
4040827 40| 40| 40 | 250! 50 SNR/L0040T27 40 300 50|30 |38 | 60

*iEM: BETHEIWNSEISOEIRT F . Note:The insert is ISO brand.

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

*iEM: BREINRENS#EISOEMRIIF, Note:Theinsertis ISO brand.

THRACEFBREHE X #EEEMNBwww.hnsant.com




& | INUS

B o= 7 A

ZHIJ7JE | TURNING TOOLS

MERNETNHF R RN

Parting and grooving holders code key

AN | U)W )RS T B

External and surface cutting

1. EDIRS 2. IMIB=R
Q : tIkrtIEE E : SMEILTHE 5. EDNNHRSE 6. YIETDTIREE 8. RAUIEIRE
P : tHR F : immEiaE

|| | — '
@ F G D 25 25 R 22 52 H

3. EERSSETR 4. XM kR 7

Y N ~ E‘ ~ ‘Au‘. t g ;h A <
WENEGRRS  BnEks e I C e 10, HEDEDTE
—HFX R —ET] S HE7] | v — - - H: Bl | - 253
R7EEE D : W7 N : FEE (SMEDIERERS )
W DA ) -
Internal cutting
1. EDEES 2. JHFER 5. EfERS 6. XRITIETIE

I |
C 32 S-Q G D R 11-44
I

— | =/

8. mAIHIRE 9. &R/IINIFEZE

3. JIHKE 4. IEIIRS

D)W IR 7] e

Height of blades

P H S 32 32
] ] I L L

1, UI7IR 2, YIMTIEEEE 3. WRTIRTDE 4. TIEERUAS 5. TS

it

THREKERFBEREHE] X #1515 % MiBwww.hnsant.com

B o= 71 A

ZHIJ7JE | TURNING TOOLS

and grooving toolholders  HIRFHIET]

SrEIER. HETIR

REY v—é\
H

||

Wil L

External Parting, Grooving and Turning Tools

- T

o

T WRET w T

Inserts Wrench

FEA R ~) Dimension(mm)

WB | Lo s | w o
1616R/L10 16x16 100 15 25 10 ZAED*#xsx—rk
1616R/L17 16x16 | 100 | 15 | 25 | 17 | Z+EDswrre—sr M5 x 20 S4
2020R/L10 20x20 125 19 25 | 10 % ={p [
2020R/L17 20x20 125 19 25 | 17 Z+ED#wrwr—skx
2525R/L10 25x25 | 150 | 24 | 25 | 10 | Z+EDsxxxx—sx M8 x 20 S5
2525R/L17 25x25 150 24 25 | 17 ZHEDwwrsr—sk
1616R/L10 16x16 100 | 14.8 3 10 Z+FDxwxx—w
1616R/L17 16x16 | 100 | 148 | 3 | 17 | Z+FDwwri—sr MS 20 S4
2020R/L10 20x20 125 | 18.8 3 10 Z+FDsrx—sx
2020R/L17 20x20 125 | 18.8 3 17 ZA{E Dt
2525R/L10 25x25 | 150 | 23.8 | 3 | 10 | Z+FDwrwr—sr M6 x 20 S5
2525R/L17 25x25 150 | 23.8 3 17 Z+FDxsrx—sx
2020R/L13 20x20 125 | 185 4 13 Z+GD#rxk—rs
2020R/L 22 20x20 125 | 185 4 22 Z*GDrwrr—rx
2525R/L13 25x25 150 | 235 4 13 Z+GD#xx—ss
2525R/L 22 25x25 150 | 235 4 22 Z*GDxwrw—x
3232R/L13 32x32 170 | 305 4 13 Z+GDwrxw—ws
3232R/L 22 32x32 170 | 305 4 22 Z+GD#xx—sx
2525R/L13 25x25 150 23 5 13 Z+HD#rwr—sn
2525R/L 22 25x25 | 150 | 23 5 | 22 | ZsHDwrre—sx M6 x 20 S5
2525N 30 25x25 150 | 125 5 30 Z+HSwrxx—ss
3232R/L13 32x32 | 170 30 5 13 Z+HD s xx—s
3232R/L 22 32x32 170 30 5 22 ZrHD#wsx—s
3232N 30 32x32 170 16 5 30 Z+HSwrxx—sx
2525R/L13 25x25 150 | 226 6 13 Z+KD#rxr—r
2525R/L 22 25x25 | 150 | 22.6 6 22 Z+KDwrrx—sx
2525N 30 25x25 150 | 125 6 30 Z+KSrwre—nx
3232R/L13 32x32 170 | 29.6 6 13 Z+KDwwrx—w
3232R/L 22 32x32 170 | 296 6 22 Z+KDwwrx—w
3232N 30 32x32 170 16 6 30 Z+KSwnsn—sn

* AT VIR AL MBI A

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com




S | INUS

ZHIJ7JE | TURNING TOOLS

LI Parting and grooving toolholde

SrEWER. METNR

Type

MGEHR/L

External Parting, Grooving and Turning Tools

Al

.

T
”
\ L

#H = 71 A

A S} Dimension(mm) In}sje)jts Siigv V}\g)r(enﬂc:h
=
5 s | w e
1616-2 16 100 15 2 14.5 MGMN200-M M5 x 17 S4
2020-2 20 125 19 2 14.5 MGMN200-M M6 x 20 S5
2525-2 25 150 24 2 14.5 MGMN200-M M6 x 20 S5
1616-2.5 16 100 15 25 | 16.5 MGMN250-M M5 x 17 S4
2020-2.5 20 125 19 25 | 16.5 MGMN250-M Mé x 20 S5
259525 25 150 | 24 | 25 |165 | MGMN250-M M6 x 20 S5
1616-3 16 100 14.8 3 18 MGMN300-M M5x17 S4
2020-3 20 125 18.8 3 18 MGMN300-M
2020-3-T10 20 125 18.8 3 10 MGMN300-M
2525-3 25 150 | 238 | 3 |18 | MGMN300-M M6 x 20 ss
2525-3-T10 25 150 23.8 3 10 MGMN300-M
3232-3 32 170 30.5 3 18 MGMN300-M
3232-3-T10 32 170 30.5 3 10 MGMN300-M
2020-4 20 125 18.5 4 18 MGMN400-M
2020-4-T10 20 125 18.5 4 10 MGMN400-M
2525-4 25 150 23.5 4 18 MGMN400-M
2525-4-T10 25 150 23.5 4 10 MGMN400-M
3232-4 32 170 30.5 4 18 MGMN400-M
3232-4-T10 32 170 30.5 4 10 MGMN400-M
2020-5 20 150 18 5 23 MGMN500-M M6 x 20 S5
2020-5-T15 20 150 18 5 15 MGMN500-M
2525-5 25 150 23 5 23 MGMN500-M
2525-5-T15 25 150 23 5 15 MGMN500-M
3232-5 32 170 30 5 23 MGMN500-M
3232-5-T15 32 170 30 5 15 MGMN500-M
2020-6 20 125 17 6 23 MGMN600-M
2020-6-T10 20 125 17 6 10 MGMN600-M
2525-6 25 150 22.6 6 23 MGMN600-M
2525-6-T15 25 150 22.6 6 15 MGMN600-M
3232-6 32 170 29.6 6 23 MGMN600-M
3232-6-T15 32 170 29.6 6 15 MGMN600-M

* g U)W, UIRE L ZEH. D5 T) . (B E s K 1) Note:The insert is Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THRAKEFE RSB X #HEEEMNEwww.hnsant.com

#H o= 7 A

SGTR/L

ZHIJ7JE | TURNING TOOLS

50

Dimension(mm) JA< R

Applicable Inserts
EHIITI R

Clamping screw
IRAET

ing and grooving toolholders  tIRFIRET]

b| LijL| H| f
12| 12 [100| 20 | 12 16
SGTR/L 1212H16C

1616H16C 15| 16 |100| 20 | 16 | 20
2020K16C 20| 20 |125| 20 | 20 | 25 GLRL3a000 M3.5x8 15
2525M16C 25| 25 [150| 20 | 25 | 32
2020K22C 20| 20 [125| 30 | 20| 25 LA 1o s
2525M22C 25| 25 |150| 30 | 25 | 32

* X BETDREWSEREZTH, Note:Theinsertis Toshiba brand.

KGBR/L

50 S

©

. . Applicable Inserts Clamping screw
Dimension(mm) A s R TI R BT
b | L
KGBR/L 2020K22-15 20| 20 |125|20 | 25 | 24
GB43R/050~300 CM 0620 CGBR/L sS4
2525M22-15 25| 25 (150 | 25 | 30 | 25
2020K22-25 20 | 20 |125| 20 | 25 |25.5
GB43R/250~330 CM 0620 CGBR/L S4
2525M22-25 25 | 25 (250 25 | 30 |25.5
2020K22-35
20120112520 | 251255 Gp43R/350-480 CM 0620 CGBRIL sS4
2525M22-35 25| 25 [150| 25 | 30 |25.5

*i¥HH: BENFBINSEXTHETIE,, Note:The insert is Kyocera brand.

THRACEFBREHE X #EEEMNBwww.hnsant.com

S | SANT



ZFHJ7JE | TURNING TOOLS §AMI §AHI ZFHI7JE | TURNING TOOLS

_ arting and grooving toolholders  HIRFIRET]

iﬁﬁmg‘ EH],JE Surface Grooving and Turning Tools iﬁﬁﬂ]ﬁ, EH],JE Surface Grooving and Turning Tools
BD max
fil ’ in

B, -

I
(o)
:ﬁ)

! ” &Ii I'w s] f " b
I'3 'S
R L ! R v - L
; - = - =
Ty pe A Dimension(mm) Appl%aﬁlﬂiljej f]r':se rts Sﬂjc%;gv V%enﬂc:h Type eSS DAy APPGLC'?);EQ ﬁse rts gﬁg" Vi)?e rfh
BE HxB L S | W a (mﬁ-?/lax) 25 k=) L R (mi—?/[ax)
QFFD2525R/L10-48H 25x25 | 150 26 3 |10 | 48-66 ZTFD0303-MG QFFD2525R/L 10-48L 25x25| 150 | 365 | 3 |10 | 48-66 ZTFD0303-MG
QFFD2525R/L17-48H 25x25 | 150 | 26 | 3 |17 | 48-66 | ZTFD0303-MG QFFD2525R/L 17-48L | sl ass | s T ] AREs ZTFD0303-MG
QFFD2525R/L10-60H 25x25 | 150 | 26 | 3 | 10 | 60-80 | ZTFD0303-MG QFFD2525R/L10-60L 25x25| 150 | 365 | 3 |10 | 60-80 ZTFD0303-MG
QFFD2525RIL17-60H 25x25 | 150 | 26 | 3 |17 | 60-80 | ZTFDO303-MG QFFD2525R/L 17-60L 25x25)| 150 435 | 8 |17 | 60-80 | ZTFD0303-MG
QFFD2525RIL10-74H 25x25 | 150 | 26 | 3 |10 | 74-110 | ZTFDO303-MG UL (0L 25x25| 1501 865 | 8 |10 | 74-110 | ZTFD0303-MG
QFFD2525R/L17-74H 25x25 | 150 26 3 |17 | 74-110 | ZTFD0O303-MG giigggigg :: 13::3;_ z:z: :Zg :z: 2 1; :g;: 20 2 Eggiggimg
QFFD2525R/L10-100H 25x25 | 150 | 26 3 [10 | 100-150 | ZTFD0303-MG
QFFD2525R/L17-100H 25x25 | 150 | 26 | 3 |17 | 100-150| ZTFD0303-MG ARV U0 29x25| 180 485 | 8 |17 | 1007150 | 2TFD0303-Ma
QFGD2525R/L13-52H 25x25 | 150 | 26 4 |13 | 52-72 ZTGD0404-MG QFGDESESRIEISSo2t 25| 150|395 | 4 |13 | 52772 £TeDo404-MG
QFGD2525R/L 22-52L 25X25| 150 | 48.5 4 |22 | 52-72 ZTGD0404-MG
QFGD2525R/L 22-52H 25x25 | 150 | 26 4 |22 | 52-72 ZTGD0404-MG QFGD2525R/L 13-64L 25x05 | 150 | 395 | 4 |13 | 64-100 | ZTGDO404-MG
AFGRESSHIEIS6A 25x25 | 150 | 26 4 |13 | 64-100 | ZTGDO0404-MG QFGD2525R/L 22-64L 25x25| 150 | 485 | 4 |22 | 64-100 | ZTGD0404-MG
QFGD2525R/L 22-64H 25x25 | 150 26 4 |22 64-100 | ZTGD0404-MG QFGD2525R/L 13-90L 25x25 | 150 | 39.5 4 |13 | 90-140 ZTGD0404-MG
ClREIEI e e 25x25 | 150 | 26 | 4 |13 | 90-140 | ZTGD0404-MG QFGD2525R/L 22-90L 25x25| 150 | 485 | 4 |22 | 90-140 | ZTGD0404-MG
Gz e e 25x25 | 150 | 26 | 4 |22 | 90-140 | ZTGD0404-MG Qe Dk k| 25x25 | 150 | 395 | 4 |13 | 130-230 | ZTGDO404-MG
QFGD2525R/L13-130H 25x25 | 150 26 4 |13 130-230| ZTGD0404-MG QFGD2525R/L 22-130L 25x25| 150 | 485 | 4 |22 | 130-230 | ZTGD0404-MG
QFGD2525R/L 22-130H 25x25 | 150 26 4 |22 | 130-230| ZTGD0404-MG M6 x 20 S5 QFHD2525R/L 13-58L 25x25| 150 | 39.5 | 5 |13 | 58-96 ZTHD0504-MG M6 20 S5
QFHD2525R/L 13-58H 25x25 | 150 26 5 |13 58-96 ZTHD0504-MG QFHD2525R/L 22-58L 25x25| 150 | 485 | 5 |22 | 58-96 ZTHD0504-MG
QFHD2525R/L 22-58H 25x25 | 150 | 26 5 |22 | 58-96 ZTHD0504-MG QFHD2525R/L 13-86L 25x25| 150 | 395 | 5 |13 | 86-140 | ZTHD0504-MG
QFHD2525R/L 13-86H 25x25 | 150 26 5 |13 | 86-140 | ZTHD0504-MG QFHD2525R/L 22-86L 25x25| 150 | 485 | 5 |22 | 86-140 | ZTHD0504-MG
QFHD2525R/L 22-86H 25x25 | 150 26 5 |22 86-140 | ZTHDO0504-MG QFHD2525R/L 13-130L 25x25| 150 | 395 | 5 |13 | 130-200 | ZTHDO0504-MG
QFHD2525R/L 13-130H 25x25 | 150 26 5 |13 | 130-200| ZTHDO0504-MG QFHD2525R/L 22-130L 25x25| 150 | 485 | 5 |22 | 130-200 | ZTHDO0504-MG
QFHD2525R/L 22-130H 25x25 | 150 26 5 |22 130-200 | ZTHDO0504-MG QFHD2525R/L 13-185L 25x25| 150 | 39.5 | 5 |13 | 185-400 | ZTHDO0504-MG
QFHD2525R/L 13-185H 25x25 | 150 26 5 |13 185-400 | ZTHDO0504-MG QFHD2525R/L 22-185L 25x25 | 150 | 485 5 |22 | 185-400 | ZTHD0504-MG
QFHD2525R/L 22-185H 25x25 150 26 5 |22 185-400| ZTHDO0504-MG QFHS2525R/L 30-185L 25x25 150 | 56.5 5 30 185-400 | ZTHS0504-MG
QFHS2525R/L 30-185H 25x25 | 150 26 5 |30 | 185-400| ZTHS0504-MG QFKD2525R/L 13-60L 25x25| 150 | 395 | 6 |13 | 60-100 | ZTKDO608-MG
QFKD2525R/L 13-60H 25x25 | 150 26 6 |13 | 60-100 | ZTKDOB0OS—MG QFKD2525R/L 22-60L 25x25| 150 | 485 | 6 |22 | 60-100 | ZTKDOB08-MG
QFKD2525R/L 22-60H 25x25 | 150 | 26 6 |22 | 60-100 | ZTKDOGOS-MG QFKD2525R/L 13-88L 25x25| 150 | 395 | 6 |13 | 88-180 | ZTKDO0608-MG
QFKD2525R/L 13-88H 05x5 | 150 | 26 | 6 |13 | 88-180 | ZTKDOBOB-MG QFKD2525R/L 22-88L 25x25| 150 | 485 | 6 |22 | 88-180 | ZTKDO0608-MG
QFKD2525RIL 22-88H o505 | 150 o6 6 | oo 88-180 | ZTKDOSOS_MG QFKD2525R/L 13-160L 25x25| 150 | 395 | 6 |13 | 160-400 | ZTKD0608-MG
QFKD2525R/L 22-160L 25x25| 150 | 485 | 6 |22 | 160-400 | ZTKD0608-MG
QFKD2525R/L. 13-160H 25x25 | 150 | 26 6 |13 | 160-400| ZTKD0608-MG
QFKS2525R/L 30-160L 25x25| 150 | 56.5 | 6 |30 | 160-400 | ZTKS0608-MG
QFKD2525R/L 22-160H 25x25 | 150 26 6 |22 160-400 | ZTKD0608-MG
QFKS2525R/L 30-160H 25x25 | 150 | 26 6 |30 | 160-400| ZTKS0608-MG

*iEM: BENFEZINSE¥KEETI K, Note:The insert is Zccct brand.

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

L] Parting and grooving toolholders

ZHIJ7JE | TURNING TOOLS

arting and grooving toolholders  HIRFIRET]

QFCOD-RR i - QFOD-LL

W.

—m

A ]\ |
H ; 1, T E AR
. . . & WRET ® F
FEA K~ Dimension(mm) e y £3 : .
Type Applicable inserts Screw Wrench 4 R~} Dimension(mm) %ﬁ}iﬁ 7l )# BT " T
7l . Type Applicable inserts Screw Wrench
= HXB L s W a, (min—Max) :Iﬂ:g —%‘ gD
HxB | L s |w | a | °D
QFFD2525RR10-48H 25x25 | 150 | 26 | 3 | 10 | 48-66 ZTFDO0303-MG
S e R e s S EDOS05G QFFD2525LL10-48H 25x25 | 150 | 26 | 3 | 10| 48-66 | ZTFD0303-MG
o veoe | 150 | 26 | s |10 | eoos TEDOS05MG QFFD2525LL17-48H 25x25 | 150 | 26 | 3 | 17 | 48-66 | ZTFD0303-MG
e B T R R e s EDOS05G QFFD2525LL10-60H 25x25 | 150 | 26 | 3 | 10| 60-80 | ZTFD0303-MG
e soos | 150 | 26 | 3 | 10 | 76116 | 2rrposssmc QFFD2525LL17-60H 25x25 | 150 | 26 | 3 | 17 | 60-80 | ZTFD0303-MG
R soms Tiga 56 T Tir Toaciio T sirooacs e QFFD2525LL10-74H 25x25 | 150 | 26 | 3 | 10| 74-110 | ZTFD0303-MG
e seos | 150 | 26 | 3 | 10 | 100150 | ZrFDOSOEMG QFFD2525LL17-74H 25x25 | 150 | 26 | 3 | 17 | 74-110 | ZTFD0303-MG
e seos |50 |26 13 157 [ ioosise |~ 2rebossa e QFFD2525LL10-100H 25x25 | 150 | 26 | 3 | 10 | 100-150 | ZTFD0303-MG
— R R N ERTR T OD0AOAMG QFFD2525LL17-100H 25x25 | 150 | 26 | 3 | 17 | 100-150 | ZTFD0303-MG
QFGD2525RR 22-52H 25x25 | 150 | 26 | 4 | 22 | 52-72 ZTGDO0404-MG QFGDESESELISSEH 25x25 | 150 | 26 | 4 | 13 S2-72 | ZTGDO404-MG
QFGD2525RR13-64H 25x25 | 150 | 26 | 4 | 13 | 64-100 | ZTGDO404-MG QFGDESESEL 22 02H 25x25 | 150 | 26 | 4| 22| 52-72 | ZTGDO404-MG
QFGD2525RR 22-64H 25x25 | 150 | 26 | 4 | 22 | 64-100 | ZTGDO404-MG QFGDESZSELISSGHH 25x25 | 150 | 26 | 4 | 13| 64-100 | ZTGDO404-MG
QFGD2525RR13-90H 25x25 | 150 | 26 | 4 | 13 | 90-140 | ZTGDO404-MG QFGDESZSEL 2268 =223 | 5D | 28 | & | 2= | G | ZIEE AL
QFGD2525RR 22-90H 25x25 | 150 26 4 | 22 | 90-140 ZTGD0404-MG QFGDESZSELIS=A0H 25x25 | 150 26 4 | 13| 90-140 | ZTGD0404-MG
QFGD2525RR13-130H 25x25 | 150 | 26 | 4 | 13 | 130-230 | ZTGD0404-MG QRGDE5ZSEL 2200H =oen | et | AY | & | Ee | SUa | ARt
QFGD2525RR22-130H 25x25 | 150 | 26 | 4 | 22 | 130-230 | ZTGD0404-MG QRGD252SLESIS0H 25x25 | 150 | 26 | 4 ) 13| 130-230 | ZTGDO404-MG
OF opsseRE e oo 150 26 |5 13 cecse Troosoag | M6x20 S5 QFGD2525LL22-130H 25@5 | 150 | 26 | 4 | 22| 130-280 | ZTGDO404-MG | . .
X
QFHD2525RR 22-58H 25x25 | 150 26 5 | 22 | 58-96 ZTHD0504-MG QFRDESZSELISO0H 25x25 | 150 26 5 | 13| 58-96 ZTHDO504-MG
QFHD2525RR 13-86H 25x25 | 150 | 26 | 5 | 13 | 86-140 | ZTHDO504-MG QFHDE52SEL 22501 2azs | ey || 20 | 9 | 2 | Sies || AllRIDes e
QFHD2525RR 22-86H 25x25 | 150 26 5 | 22 | 86-140 ZTHD0504-MG QFHDE02SELTS60f 25x25 | 150 26 5| 13| 86-140 ZTHDO504-MG
QFHD2525RR 13-130H 25x25 | 150 26 5 | 13 | 130-200 | ZTHD0504-MG (O taoe bt 2o | e 2 5 | 22| 86-140 CAllaloSet o)
QFHD2525RR 22-130H 25x25 | 150 | 26 | 5 | 22 | 130-200 | ZTHDO504-MG Sl 25x25 | 150 | 26 | 5 | 13 ] 130-200 | ZTHD0504-MG
QFHD2525RR 13-185H 25x25 | 150 | 26 | 5 | 13 | 185-400 | ZTHDO504-MG ol bl 22 | st | 2o | e | 2 | IS0 B0 | |00 e
QFHD2525RR 22-185H 25x25 | 150 | 26 | 5 | 22 | 185-400 | ZTHD0504-MG CRHDESIHE ISR 25x@5 | 150 | 26 | 5 | 18| 185-400 | 2THDOS04-MG
QFHS2525RR 30-185H 25x25 | 150 | 26 | 5 | 30 | 185-400 | ZTHS0504-MG CPEDEEIEEEIEaH 25x@5 | 150 | 26 | 5 | 22| 185400 | ZTHDOS04-MG
O opsseRE o kol ozs 100 | 28 | 6 |13 | s0o100 | 21KD0S0E-NG QFHS2525LL30-185H 25x25 | 150 | 26 | 5 | 30 | 185-400 | ZTHS0504-MG
QFKD2525RR22-60H 25x25 | 150 | 26 | 6 | 22 | 60-100 | ZTKDO608-MG CROSEE IS 25x25 | 150 | 26 | 6 ) 13 60-100 | ZTKDOGO0B-MG
QFKD2525RR, 13-88H 25x25 | 150 | 26 | 6 | 13 | 88-180 | ZTKDO608-MG APIDESIEE A0 25x25 | 150 | 26 | 6 | 22| 60-100 | ZTKDO60S-MG
QFKD2525RR 22-88H 25x25 | 150 | 26 | 6 | 22 | 88-180 | ZTKDOBOS-MG iRt ST N O WU WO W8 I ey SO e Bt
SF(Ops2eRR a0 oo | 150 | 26 |6 18 | 160400 | 2iKDos0s-MG QFKD2525LL 22-88H 25x25 | 150 | 26 | 6 | 22| 88-180 | ZTKDOG08-MG
SFKbsEose 22l o525 | 150 | 26 | 6 | 22 | 160400 | ZTKDOBGEMG QFKD2525LL 13-160H 25x25 | 150 | 26 | 6 | 13| 160-400 | ZTKDOG08-MG
oFcSsEsen 30 e soos Tieo T os Ta Tao T reoma00 | Ficcecea QFKD2525LL 22-160H 25x25 | 150 | 26 | 6 | 22| 160-400 | ZTKDOG08-MG
QFKS2525LL 30-160H 25x25 | 150 | 26 | 6 | 30 | 160-400 | ZTKS0608-MG

THREKERFBEREHE] X #1515 % MiBwww.hnsant.com

THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com



ZFHJ7JE | TURNING TOOLS §AMI §AHI ZFHI7JE | TURNING TOOLS
’rmmnnﬁ External Parting Blade

4 SPB-S o
ar, 7 1 hI

ZQ

|

=%  JIMIEIR

Applicable Inserts

T R
SPB  326-S 26 2.4 110 21.6 ZQMX3N11-1E
Q 426-S 26 3.2 110 21.6 ZQMX4N11-1E
B 526-S 26 4.0 110 21.6 ZQMX5N11-1E
1616R03 16 | 16 | 100 (164 3 | 16 | ZQMX3N11-IE I o 626-S 26 52 10 216 ZQMXENTI-1E
X — —
1616R04 16 16 | 100 | 16.4| 4 18 ZQMX4N11-IE 832-S 32 24 150 25 ZAMXSNT1-1E
432-S 32 3.2 150 25 ZQMX4N11-1E
2020R03 20 20 | 125|204 | 3 20 ZQMX3N11-IE
532-S 32 4.0 150 25 ZQMX5N11-1E
2020R04 20 20 | 125|204 | 4 20 ZQMX4N11-IE
632-S 32 5.2 150 25 ZQMX6N11-1E
2525R03 25 25 | 150 | 25.4| 3 20 ZQMX3N11-IE M6x20 S5 n
| Tt == ZAR NS 177 R . ; RS '
. o525R04 o5 | 25 | 150 254 4 20 ZOMXANTI—IE SPB& % IR EEB ESANTEIA/ATPHSZ % J]EE SPB parting blade is matching with PHS parting blade holder from SANT.
2525R05 25 | 25 | 150 254 | 5 | 25 | ZQMXSN11-IE ®D
2525R06 25 25 | 150 | 25.7| 6 32 ZQMX6N11-IE QEI:IS
3225R03 32 25 | 170 | 254 3 25 ZQMX3N11-IE
3225R04 32 25 | 170 | 254 | 4 25 ZQMX4N11-1E
M6x22 S5
3225R05 32 25 | 170|254 | 5 25 ZQMX5N11-IE
3225R06 32 25 | 170 |25.7| 6 32 ZQMX6N11-IE
16.4| 3 —
1616L03 16 16 | 100 16 ZQMX3N11-IE M5x17 s4
1616L04 16 16 | 100 | 16.4| 4 16 ZQMX4N11-IE
2020L03 20 20 | 125|204 | 3 20 ZQMX3N11-IE Ap[{)licable Inserts WgnCh
— RS [ < 4
2020L04 20 | 20 | 125|204 4 | 20 | ZQMXAN11-IE Dimension(mm) Z4 R el RS
2525L.03 25 25 | 150 | 25.4| 3 20 ZQMX3N11-IE
MBx20 S5 Stock [/
ZQ 2525104 25 25 150 | 25.4 4 20 ZQMX4N11-1E L H h B W D Dmax
2525105 25 25 | 150 | 254| 5 25 ZQMX5N11-IE
2595106 o5 | 25 | 150 | 25.7| 6 32 ZQMX6EN11-IE QEES26N 110 26 19 2 25 60 ZPES02502-MG QS5
3225103 32 o5 | 170 | 25.4| 3 o5 ZQMX3N11-IE QEFS26N 110 26 19 2.4 3 60 ZPFS0302-MG QS5
3225104 32 o5 | 170 | 25.4| 4 25 ZQMX4N11-IE QEGS26N 110 26 19 3.2 4 70 ZPGS0402-MG QS5
M6x22 S5
3225105 3 | 25 | 170 | 25.4| 5 | 25 ZQMX5N11-IE QEHS26N 110 26 19 4 5 70 ZPHS0503-MG QS5
3225106 3 | 25 [ 170 |1 25.7| 6 | 32 ZQMXBN11-IE QEKS26N 110 26 19 5 6 70 ZPKS0604-MG QS5
QEES32N 150 32 24.6 2 25 100 ZPES02502-MG QS5
QEFS32N 150 32 24.6 2.4 3 100 ZPFS0302-MG QS5
QEGS32N 150 32 24.6 3.2 4 120 ZPGS0402-MG QS5
QEHS32N 150 32 24.6 4 5 120 ZPHS0503-MG QS5
QEKS32N 150 32 24.6 5 6 120 ZPKS0604-MG Qs5

QE(ISEF I EE AR ESANTZ A A EIQZSE 3 J1EE QELS parting blade is matching with QZS parting blade holder from SANT.

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THRACEFBREHE X #EEEMNBwww.hnsant.com




ZH|J7JE | TURNING TOOLS §AHI

LI T] Parting and grooving tool

Nﬂfguﬁﬂlﬂ]a Internal Grooving and Turning Tools

REY L
—~ ) Y ‘ ﬂ?
= \ L2

W — L 2D

&R IRET # T
Applicable inserts Screw Wrench

@d

1

A ]S Dimension(mm)

L L s wo ks ab

C20Q-QEDRI/L 05-27 20 180 15.2 2.5 5 27 M4 x 14 s3
C25R-QEDRIL 07-33 25 | 200 | 203 | 25 | 7 | s3 |ZTEDmnT

C32S-QEDRIL 09-42 32 250 | 253 | 25 | 9 42 | ZREDwswrs—xe OXT7 S4
C20Q-QFDRIL 05-27 20 180 15.2 3 5 27 SEDeesee | MAX 14 s3
C25R-QFDR/L 07-33 25 200 20.3 3 7 33

C32S-QFDRIL 09-42 32 | 250 | 253 3 9 42 | ZRFDwrss—wn | MOXTT S4
C25R-QGDRIL 08-35 25 200 215 4 8 35 STGDwwesss | MEX17 s4
C32S-QGDRI/L 11-44 32 250 27.5 4 11 44

C40T-QGDRIL 13-54 40 300 335 4 13 54 | ZRGDwxxx—xx | MBx20 S5
C25R-QHDR/L 08-35 25 200 215 5 8 35 | ZTHDwsxs—sx | MEX17 S4
C32S-QHDR/L 11-44 32 250 275 5 11 44 M6 x 20 <5
C40T-QHDR/L 13-54 40 300 335 5 13 54 ZRHD s = s

C25R-QKDRI/L 08-35 25 200 215 6 8 35 | ZTKDwsss—xx | M5x 17 S4
C32S-QKDRIL 11-44 oo | oy | 25 | 6 | o |

C40T-QKDRIL 13-54 40 | 300 | 335 5 13 | gq | ZRKDrrweme ) MEX20 S5
C50T-QKDR/L13-64 50 300 381 6 14 64

THREKERFBEREHE] X #1515 % MiBwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

d grooving toolholders  IBfLIIET]

NWE&*H“”E Internal Grooving and Turning Tools

REY

JIh

Inserts

w T

FA R ~F Dimension(mm) Wrench

sd | Lo | s | w R
2016-1.5 16 180 | 113 | 15 | 3 MGMN150-M M4 x 14 S3
2520-1.5 20 180 | 13.1 1.5 | 4 MGMN150-M M5 x 17 S4
2925-1.5 25 200 | 16.2 1.5 4 MGMN150-M M5 x 17 S4
2016-2 16 125 | 124 | 2 3 MGMN200-M M4 x 14 S3
2520-2 20 125 14 2 5 MGMN200-M M5 x 17 S4
2925-2 25 200 | 172 | 2 5 MGMN200-M M5 x 17 sS4
2016-2.5 16 125 | 125 | 25 6 MGMN250-M M4 x 14 33
2520-2.5 20 180 | 151 | 25 | 6 MGMN250-M M5 x 17 S4
2925-2.5 25 200 | 182 | 25 | 6 MGMN250-M M5 x 17 S4
2520-3 20 180 | 156 | 3 6 MGMN300-M M5 x 17 S4
3125-3 25 200 | 189 | 3 5 MGMN300-M M5 x 17 s4
3732-3 32 250 | 215 | 3 6 MGMN300-M M5 x 20 34
2520-4 20 180 | 156 | 4 6 MGMN400-M M5 x 17 sS4
3125-4 25 200 18.9 4 6 MGMN400-M M5 x 17 S4
3732-4 32 250 215 4 6 MGMN400-M M5 x 20 34
3125-5 25 200 | 191 | 5 8 MGMN500-M
3732-5 32 250 | 215 | 5 8 MGMN500-M
3125-6 25 200 | 19.4 | 6 8 MGMNG00-M
3732-6 32 250 | 215 | 6 8 MGMNB00-M
3732-8 32 250 | 232 | 8 10 | MGMN800-M M6 x 20 S5
4540-8 40 300 | 272 | 8 10 | MGMN800-M
3125-6A 25 200 | 19.4 | 6 8 MGMNG00-M
3732-6A 32 250 | 215 | 6 MGMNB00-M
3732-8A 32 250 | 234 | 8 10 | MGMN800-M
4540-8A 40 300 | 272 | 8 10 | MGMN800-M

* A AEYIWT . DAL ZEdl. i) . (BB E i 4K JJ A7) Note:The insert is Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com




& | INUS

ZH|J7JE | TURNING TOOLS

IBEI#ET] Parting and grooving toolholders

* AR RIIETITI RFi%E Matching Insert

% § fé’ § § EHARSH(mm) Dimension
g § § § g =ATR La max
ZTED02503-MG o0 [ } ® O 2.5 0.3 17
ZTFD0303-MG o0 (] ® O 3 0.3 17
ZTHD0404-MG o0 o ® O 4 0.4 22
ZTHD0504-MG C ) () ® O 5 0.4 22
ZTKD0608-MG o0 [ ] ® O 6 0.8 22
ZTHS0504-MG O O @) 5 0.4 -
ZTKS0608-MG O O O 6 0.8 -
r B mm mE
M THR Om
'K BT I
BEER
MHEE. KEE |
RE Y

® EHFFETF Unallocatedstock O FJFEETFE Available stock M #% N A Main application  [] #F& R F Extended application

* THRFBRIIETITIFEE Matching Insert

mw|lw wn wn|lwmw

O| 0 ) O| 0

Al S Type NN S NE RS

W | W N w ()]

[o)N >} (o)} o | O
MGMN200-M o 0 (] ® O 2 0.2 16 1.2 3.5
MGMN250-M [ A ) o ® O 2.5 0.2 18.5 2 3.85
MGMN300-M M ) o ® O 3 0.4 21 2.35 4.8
MGMN400-M ") o ® O 4 0.4 21 3.3 4.8
MGMN500-M [ AN ) o ® O 5 0.8 26 4.1 5.8
MGMNG600-M ® 0 [ ] ® O 6 0.8 26 5 5.8

5
|
|
|
|

M T54H Om
K BT m =
HaLR
MHas, has u
SEEREAT L

@ EHFETF Unallocatedstock O AJ#EETF Available stock B #7F R A Main application  [] A R F Extended application

THREKERFBEREHE] X #1515 % MiBwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

Parting and grooving toolholders  HIBTHI#ET]

BFIMELNERTIRETIE Parting Blade Holders

Hy = 7 A

_]%

—I

hs

A R ~f Dimension(mm)

Type

T

PHS2026
PHS2526
PHS3226
PHS2032
PHS2532
PHS3232
I T1EEFFSPB&FIJIHR This parting blade holder is for SPB parting blades.

HEFMNENTREE

THREFEFBREHE] X ¥FI151EE6Miwww.hnsant.com




ZFHJ7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

tIRFEI#ET] Parting and groovin yoving toolholders  IRTHIET]
A

S|GEN;LEE7,ﬂ Internal Grooving and Turning Tools GER;;“N;LWE”H‘ Internal Grooving and Turning Tools
A ;:’i SER**-A 6. 69 6.5 2.58 2.5 @ —f&#EFE General recommendation n

‘y AN— ﬂ JER**-B  8.46 82 318 2.7 wr B O I =H
: , T— JER**—C 5.8 11.48 4.05 2.8 MEHEE FHR M O =)

A material
— JER¥D 6.8 1644 505 3.4 poore % W 7]
| GER**-E  9.54 21.66 5.55 rezE N A. B RFITIH A

4.4
L1— = PR ]
— g% | IR | B . mEE

| I ——
]

0

=

= ®
!

[$))

o

- @
=

!

iR oo |
GER050-A GEL050-A 0.5 1.2 005 @O OO
ﬂ GER060-A GEL060-A 0.6 1.2 005 @O OO
GER070-A GELO70-A 0.7 1.2 005 @O OO
,,,,,,,,, (I GER080-A GEL080-A 0.8 1.2 00 @O OO
GER100-A GEL100-A 10 1.5 00 @O0 0O EETIREE T
GER120-A GEL120-A 1.2 1.5 00 @O OO S1GER0OB08A
GER125-A GEL125-A 1.25 1.5 005 @ O OO
ErAGFNE GER140-A GEL140-A 1.4 1.5 01 @O OO
- y S— GER150-A GEL150-A 1.5 1.5 01 @O OO
JIATEIS NRme |[ROMIERE T Rl e Gl TIE 24T S GER180-A GEL180-A 1.8 1.5 01 @O OO
Toolholder Type Insert Type m n Insert Screw Torx Key GER200-A GEL200-A 20 15 0.1 . O O O
GERM_A GER080-B GEL080-B 08 1.8 00 @O OO
0808A CER%HAR 8 1.5 20 8 48 7.2 100 L6OM2.2x5 706 GER100-B GEL100-B 10 22 005 @O OO
10108 0 ™ M e T GER120-B GEL120-B 1.2 22 o005 @O OO
gEE**—ER 2.2 : L6OM2. 5%7  T08 GER125-B GEL125-B 1.5 22 00 @O OO
12108 o 12 3 10 7 9 125 GER130-B GEL130-B 1.3 22 01 @000
14120 14 33 12 8 11.4 150 GER145-B GEL145-B 1.45 22 01 @O OO EFTIEERE T
Skk—
SIGER  1612C EEE**_gR 16 25 20 12 85 11.4 150 L6OM2.5%7  T08 GER150-B GEL150-B 1.5 22 o1 @00O SIGER1010B
GER180-B GEL180-B 1.8 22 01 @O OO SIGER12108B
16160 16 36 16 9 15 160
GER200-B GEL200-B 20 22 01 @O OO
20200 GER**-D 20 45 40 20 121 19 180 " GER225-B GEL225-B 225 22 01 @O OO
DR L6OM3*8 T10
2525D GER 25 4.2 45 25 12,3 24 200 GER250-B GEL250-B 25 22 01 @O OO
2595 25 45 25 156 24 200 GER280-B GEL280-B 28 22 0.2 : 8 8 8
GER**—E GER300-B GEL300-B 3.0 22 0.2
3232F 32 6.5 55 32 19 30.4 220  L60OM4*8.5 715
GER**-ER GER100-C GEL100-C 1.0 25 00 @O OO
4032E 40 - %2 2 304 250 GER120-C GEL120-C 1.2 25 005 @O OO
GEL**—A GER125-C GEL125-C 1.25 2.5 005 @O OO
0808A 8 1.5 20 8 48 7.2 100 L6OM2.2x5 706
GEL**AR X GER140-C GEL140-C 1.4 25 01 @O OO
GER145-C GEL145-C 1.45 25 01 @O OO
10108 GEL**-B 10 25 10 62 9 125 GER150-C GEL150-C 1.5 25 01 @O0OO
2.2 L6OM2. 5%7 708
GEL**-BR GER160~C GEL160-C 1.6 25 01 @O OO £ T R AT
12108 12 30 10 7 9 125 GER170-C GEL170-C 1.7 2.5 0.1 o O O O SIGER1412C
SIGEL  1412C 14 33 12 8 11.4 150 GER185-C GEL185-C 1.85 2.5 01 @O OO SIGER1612C
kk—
16126 e 16 25 20 12 85 11.4 150 L6OM2.5%7  T08 GER195-C GEL195-C 195 25 01 @000 SIGERT6160
GER200~C GEL200~C 20 25 01 @O OO
1616C 16 36 16 9 15 160
GER225-C GEL225-C 225 25 01 @O OO
20200 GEL#*-D 20 4. S 40 I 70 2. T 19 QY 1SORE oo o GER250-C GEL250-C 25 25 02 @O OO
2525D GEL**-DR 25 4.2 45 25 12,3 24 200 GER275-C GEL275-C 275 25 02 @O OO
2525E 25 45 25 15.6 24 200 GER280-C GEL280-C 28 25 02 @ 8 8 8
GEL**-E GER300-C GEL300-C 30 25 02 @
3232E 32 6.5 55 32 19 30.4 220  L6OM4*8.5 715
GEL**-ER GER320-C GEL320-C 32 25 02 @O OO
4032E 40 - 32 23] 30.4 250 GER350-C GEL350-C 35 25 02 @000

THREKERFBEREHE] X #1515 % MiBwww.hnsant.com THRACEFBREHE X #EEEMNBwww.hnsant.com




Z|JJE | TURNING TOOLS

ving toolholders  YIBTHIIET]

%#|7JE | TURNING TOOLS §AHI §AHI

YIRFIFET] Parting and groovi

GER;;“N;LWE”H‘ Internal Grooving and Turning Tools GER;;“N;LWE”H‘ Internal Grooving and Turning Tools

©) AT Cond rscommendatn ; ) SRR Good ecommendar

GER**-A 6. 69 6.5 2.58 2.5 (7) —MRiEFE General recommendation | GER**—A 6. 69 6.5 2.58 2.5 () —R&#E%E General recommendation

GER**B  8.46 8.2 3.18 2.7 - wr B O ot O] -l GER**B |846) 82 ) 3.18) 2.7 e B O B R TR

GER**—C 5.8 11.48 4.05 2.8 MEHEE TEGH M O e GER**—C 58 11.48 4.05 2.8 MEREE THEN M O See the fol lowing two

GER¥*—D 6.8 1644 505 3.4 reere oH% W O ks i GER®-D 6.8 1644 505 3.4 oo o wu O pictiires

GER®*-E  9.54 21.66 5.55 4.4 5a&E N © C. D\ E BFITIE R GER¥*-E  9.54 21.66 5.55 4.4 seeE N ©

e - = = [ I
o e PHI25 | DK110 T Insert . G B
L w | 8 [ r [r[iL|rR[L]  Toolholders | v N s B -
GER100-D GEL100-D 1.0 25 00 @O OO GER100-050AR GEL100-050AR 1.0 1.5 05 @O OO
GER120-D GEL120-D 1.2 25 005 @O OO GER150-075AR GEL150-075AR 1.5 1.5 075 @O OO HFIIFEATIF
GER125-D GEL125-D 1.25 25 005 @O OO GER200-100AR GEL200-100AR 20 1.5 1 @O OO S|GEROB08A
GER140-D GEL140-D 1.4 25 005 @O OO GER100-050BR GEL100-050BR 1.0 22 05 @O OO
GER145-D GEL145-D 1.45 25 01 @O OO GER150-075BR GEL150-075BR 1.5 22 075 @O OO EETIRES T
GER150-D GEL150-D 1.5 30 01 @O OO GER200-100BR GEL200-100BR 2.0 2.2 1 @O OO SIGER1010B
GER170-D GEL170-D 1.7 30 01 @O OO GER250-125BR GEL250-125BR 25 22 125 @O OO SIGER1210B
GER185-D GEL185-D 1.85 3.0 01 @O OO GER300-150BR GEL300-150BR 30 22 1.5 @O OO
GER195-D GEL195-D 1.95 30 01 @O OO AFTIREATIFF GER100-050CR GEL100-050CR 1.0 25 05 @O OO
GER200-D GEL200-D 20 36 01 @O OO $1GER2020D GER150-075CR GEL150-075CR 1.5 25 075 @O OO BFTIREATIAF
GER225-D GEL225-D 225 36 01 @O0 0O SIGER2525D GER200-100CR GEL200-100cR 2.0 25 1 @O OO SIGER14120
GER230-D GEL230-D 23 36 02 @O OO GER250-125CR GEL250-125CR 25 25 1.2 @O OO g:ggﬁng
GER250-D GEL250-D 25 36 02 @O OO GER300-150CR GEL300-150CR 30 25 1.5 @O OO
GER275-D GEL275-D 275 36 02 @O OO GER150-075DR GEL150-075DR 1.5 32 075 @O OO
GER280-D GEL280-D 28 45 02 @O0 OO GER200-100DR GEL200-1000R 2.0 32 1 @O OO BFI)RERTIHF
GER300-D GEL300-D 30 45 02 @O OO GER250-125DR GEL250-125DR 25 45 1.2 @O OO g:gggggggg
GER320-D GEL320-D 32 45 02 @O OO GER300-150DR GEL300-150DR 30 45 1.5 @O OO
GER350-D GEL350-D 35 45 02 @O OO GER250-125ER GEL250-125ER 25 55 1.2 @O OO
GER400-D GEL400-D 40 45 02 @O OO GER300-150ER GEL300-150ER 30 55 1.5 @O OO EETREAE TN
GER100-E GEL100-E 1.0 30 005 @O OO GER350-175ER GEL350-175ER 35 55 1.75 @O OO S1GER2525E
GER150~E GEL150~E 1.5 35 01 @O OO GER400-200ER GEL400-200ER 40 65 2 @O OO SIGER3232E
GER170-E GEL170-E 1.7 35 01 @O OO GER450-225ER GEL450-225ER 45 65 225 @O OO S|GER4032E
GER185-E GEL185-E 1.85 35 01 @O OO GER500-250ER GEL500-250ER 50 65 25 @O OO
GER195-E GEL195-E 1.95 35 01 @O OO
GER200-E GEL200-E 20 38 01 @000 @ E%ERF (F#) Standing stock (O IEFE&EEETR Extraordinary stock
GER225-E GEL225-E 225 38 01 @O OO
GER230-E GEL230-E 23 38 02 @O OO
GER250~E GEL250-E 25 45 02 @O OO AFIIAEATIH A
S1GER2525E
GER275-E GEL275-E 275 45 02 @O OO SIGER3232E
GER280—E GEL280-E 28 45 02 @O OO S1GER4032E |
GER300-E GEL300-E 30 45 02 @O0 0O 2 ]
GER330-E GEL330-E 33 45 02 @O OO == @ — o]
GER350-E GEL350-E 35 55 02 @O OO !
GER400-E GEL400-E 40 55 02 @O OO I o
GER430-E GEL430-E 43 55 02 @0 OO r
GER450—E GEL450~E 45 65 02 @O OO AN
GER460-E GEL460-E 426 65 02 @O OO
GER500-E GEL500-E 50 65 02 @O OO A. B &Y TIERH* C. D. E&FTIFI4FE
@ F&FERF (EHD) Standing stock O FEE&EETF Extraordinary stock A/B Series Insert Type C/D/E Series Insert Type

THRAKEFERBEHRB X #EEZEMNwww.hnsant.com

THRACEFBREHE X #EEEMNBwww.hnsant.com




	1: 目录1
	2: 目录2

